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QID : 1 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a sentence is free
from error, select 'No Error'.

My best wishes (1)/ are always (2)/ with you. (3)/ No error (4)
Options:

1)1

2)2

3)3

44

Correct Answer: 1

Candidate Answer: 4

QID : 2 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a sentence is free
from error, select 'No Error'.

This year, we were visited by the director of Austrian Culture Forum, (1)/ based on Delhi and together we all wanted (2)/ to initiate an art festival in South India. (3)/ No error (4)
Options:

1)1

2)2

3)3

44

Correct Answer: 2

Candidate Answer: 2



QID : 3 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it by selecting the
appropriate option.

Ramesh into his own trap.

Options:

1) falling

2) was fell

3) fell

4) fall down

Correct Answer: fell

Candidate Answer: fell

QID : 4 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it by selecting the
appropriate option.

India is the second most populous country

the seventh largest country by area in the world.
Options:

1) but

2) however

3) and

4) while

Correct Answer: and

Candidate Answer: and

QID : 5 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Lucrative
Options:

1) Impoverished
2) Worthwhile

3) Useless

4) Inconsiderable

Correct Answer: Worthwhile
Candidate Answer: Worthwhile

QID : 6 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Actuate



Options:

1) True

2) Move

3) Select

4) Kill

Correct Answer: Move

Candidate Answer: Move

QID : 7 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Jubilant

Options:

1) Happy

2) Excited

3) Celebrating

4) Sorrowful

Correct Answer: Sorrowful

Candidate Answer: Sorrowful

QID : 8 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Courtly

Options:

1) Formal

2) Elegant

3) Conventional

4) Rough

Correct Answer: Rough

Candidate Answer: Rough

QID : 9 - Rearrange the parts of the sentence in correct order.

The government should

P : provide health insurance
Q : to buy their own

R : for those unable



Options:

1) PQR

2) RPQ

3) QRP

4) PRQ

Correct Answer: PRQ
Candidate Answer: PRQ

QID : 10 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in Passive/Active Voice.

Someone has invited me to the cruise.

Options:

1) Someone has sent invitation to the cruise.

2) I had been invited to the cruise.

3) I have been invited to the cruise.

4) I was invite to the cruise by somebody.

Correct Answer: I have been invited to the cruise.

Candidate Answer: I have been invited to the cruise.

QID : 11 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in Indirect/Direct Speech.

Rohan said , “I am going”

Options:

1) Rohan had said he is gone.

2) Rohan is going.

3) Rohan said that he is gone.

4) Rohan said that he was going.

Correct Answer: Rohan said that he was going.

Candidate Answer: Rohan said that he was going.

QID : 12 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Fluorescent

2) Floresecent

3) Floroscent

4) Flowrascent

Correct Answer: Fluorescent

Candidate Answer: Fluorescent



QID : 13 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

If we can permit ourselves to movement fully, we permit ourselves to perceive, think reflect. We allow ourselves the privilege of reimagining dance,
music, and the way you and I talk, or think, or love. We move an incredible space of , primarily in thought, but perhaps more restrictively in defining
, or maybe even doing away with it.

ourselves to movement fully

Options:

1) understood

2) understandable
3) understandably
4) understand

Correct Answer: understand

Candidate Answer: understand

QID : 14 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

If we can permit ourselves to movement fully, we permit ourselves to perceive, think reflect. We allow ourselves the privilege of reimagining dance,
music, and the way you and I talk, or think, or love. We move an incredible space of , primarily in thought, but perhaps more restrictively in defining
, or maybe even doing away with it.

perceive, think reflect.
Options:

1) but

2) nor

3) and

4) so

Correct Answer: and

Candidate Answer: and

QID : 15 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

If we can permit ourselves to movement fully, we permit ourselves to perceive, think reflect. We allow ourselves the privilege of reimagining dance,
music, and the way you and I talk, or think, or love. We move an incredible space of , primarily in thought, but perhaps more restrictively in defining
, or maybe even doing away with it.

‘We move an incredible



Options:

1) of

2) so

3) into

4) for

Correct Answer: into

Candidate Answer: into

QID : 16 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

If we can permit ourselves to movement fully, we permit ourselves to perceive, think reflect. We allow ourselves the privilege of reimagining dance,
music, and the way you and I talk, or think, or love. We move an incredible space of , primarily in thought, but perhaps more restrictively in defining
, or maybe even doing away with it.

space of , primarily in thought,
Options:

1) liberty

2) liberation

3) liberties

4) liberal

Correct Answer: liberty

Candidate Answer: liberties

QID : 17 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

If we can permit ourselves to movement fully, we permit ourselves to perceive, think reflect. We allow ourselves the privilege of reimagining dance,
music, and the way you and I talk, or think, or love. We move an incredible space of , primarily in thought, but perhaps more restrictively in defining
, or maybe even doing away with it.

defining , or maybe even doing
Options:

1) beautifully

2) beauty

3) beautiful

4) beautify

Correct Answer: beauty

Candidate Answer: beauty



QID : 18 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Be in force

Options:

1) To enjoy a short period of fame or power.
2) In great strength or numbers.

3) A hateful act done in a haste.

4) Be the current winner.

Correct Answer: In great strength or numbers.

Candidate Answer: In great strength or numbers.

QID : 19 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Make a scene

Options:

1) To perform beautifully in front of an audience.

2) Make a public disturbance or excited emotional display.
3) To narrate an elaborate false story.

4) Describe a scene in so much detail that it comes vivid.

Correct Answer: Make a public disturbance or excited emotional display.

Candidate Answer: Make a public disturbance or excited emotional display.

QID : 20 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

Extremely happy, peaceful, or picturesque
Options:

1) Idyllic

2) Abominable

3) Iota

4) Amiss

Correct Answer: Idyllic

Candidate Answer: Idyllic

QID : 21 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

Showing a lack of courage or confidence



Options:

1) Tenacious

2) Indomitable

3) Timid

4) Gutsy

Correct Answer: Timid

Candidate Answer: Timid

QID : 22 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement is needed, select
"no improvement".

The trick is in (keep) the flavours simple and fresh.
Options:

1) keeping

2) keeps

3) to keep

4) no improvement

Correct Answer: keeping

Candidate Answer: keeping

QID : 23 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement is needed, select
"no improvement".

Yes, amazing things (has happen) with the launch of the internet.
Options:

1) is happening

2) had happen

3) have happened

4) no improvement

Correct Answer: have happened

Candidate Answer: have happened

QID : 24 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent paragraph.

I learnt he had

A-spoke about yoga, slums, and Indian
B-never been to India, yet he
C-cinema with conviction



Options:
1) ACB
2) BAC
3) ABC
4) CBA

Correct Answer: BAC
Candidate Answer: BAC

QID : 25 - In the following question, four words are given out of which one word is correctly spelt. Select the correctly spelt word.
Options:

1) coniferous

2) coniferos

3) coniferrous

4) coniferros

Correct Answer: coniferous

Candidate Answer: coniferous

QID : 26 - In the following question, select the related word pair from the given alternatives.

Options:

1) Car : Truck

PR : Nb

2) Table : Window

e : Ragat

3) Clay : Statue

et et

4) Wood : Plastic

TAhS! : ReH

Correct Answer: Clay : Statue
fedt : oft

Candidate Answer: Clay : Statue

feet - ot



QID : 27 - In the following question, select the related number from the given alternatives.
41:4::37:?
frforRae R & Ry U faeedt # & HeifSrt e & gy |

41:4::37:?

Options:

1) 34

2) 21

3) 22

4) 16

Correct Answer: 21

Candidate Answer: [ NOT ANSWERED ]

QID : 28 - In the following question, select the related letter/letters from the given alternatives.
AMC:COE::RAX : ?
fferRad o & foy Iy Aot & < <eiferT srer/arert @ gfg |

AMC:COE::RAX : ?

Options:
1) MKZ
2) TCZ
3) ECB
4) FBT

Correct Answer: TCZ
Candidate Answer: [ NOT ANSWERED ]

QID : 29 - In the following question, select the odd word from the given alternatives.

ferforRad e & Ry U et & & faww g &1 7w |



Options:
1) Teacher
A h
2) Justice
qy

3) Lawyer

4) Chef

SSilER|

Correct Answer: Justice
g

Candidate Answer: Justice
g

QID : 30 - In the following question, four number pairs are given. The number on left side of (-) is related to the number of the right side of (-) with some Logic/Rule/Relation. Three
are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

R fRT 7T0 e §, IR e T R M E | () F TR IR & A (—) & it oiR @ 1 i [ /e [ wwiftd 8 | i St U Id/frem & SR ok 9EE 8 | Y Y fReedt § e ot
MY |

Options:

1)11-121

2)12-144

3) 15 - 225

4)13-171

Correct Answer: 13 - 171

Candidate Answer: 13 - 171

QID : 31 - In the following question, select the odd letter/letters from the given alternatives.

frforRad uRe= & Ry Q faemedt & & fawm arer/areRl @ i+ |
Options:

1) MSY

2) KQW

3) RXC

4) DJP

Correct Answer: RXC

Candidate Answer: RXC



QID : 32 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Seaman
2. Scruples
3. Script
4. Second
5. Seat

Rrrfermas vl 1 T § T A A % TR R |

1. Seaman
2. Scruples
3. Script
4. Second
5. Seat
Options:
1) 32154
2) 45321

3) 12345
4) 25341

Correct Answer: 32154
Candidate Answer: 32154

QID : 33 - In the following question, select the missing number from the given series.
1728, 864, 432, 216, ?
fferRad e 4 fou ¢ el # | < 3ids A1 Hio |

1728, 864, 432, 216, ?
Options:

1) 54

2) 108

3) 116

4) 200

Correct Answer: 108

Candidate Answer: 108



QID : 34 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
GLP, HNR, IPT, JRY, ?
Teh 1< o 11 &, T 9 U g = & | U ¢ famedl & 3 98 w8 fAdhed gfig, St ST ! IR N |

GLP, HNR, IPT, JRY, ?
Options:

1) KUY

2) KWA

3) KTX

4)LVZ

Correct Answer: KTX
Candidate Answer: KTX

QID : 35 - Aman is 4 years older to Bimal. Bimal is 2 years younger to Chaman. Chaman is 6 years older to Dhruv. Dhruv is 9 years younger to Esha. Who is the second eldest?

3, A A4 ad ggr 2 | fover, T A2 qd BT 8 | o7H, YFT D 6 T IST 8 | UFd, SN 9 T BITT & | TH T TG B 82
Options:

1) Aman

3HA

2) Bimal

fomer

3) Chaman

gHA

4) Dhruv

o]

Correct Answer: Aman
IHA

Candidate Answer: Aman
3HA

QID : 36 - From the given alternatives, select the word which CANNOT be formed using the letters of the given word.
Apparent
3w 7 faemed & < a8 v gAY S QU T 918 & 1R} T GRANT HReh T8l S ST Hhell & |

Apparent



Options:
1) Pear

2) Pent

3) Rent

4) Relevent

Correct Answer: Relevent
Candidate Answer: Relevent

QID : 37 - In a certain code language, “MONEY? is written as “ZDONN”. How is “RATED?” written in that code language?

Te fARIE PIs v #, “MONEY” &1 “ZDONN” foral STl 8 | $99 B {81 § “RATED” &1 fohd (R foran simeem?

Options:

1) FBVYE
2) EZSDW
3) EDUZS
4) WWMKB

Correct Answer: EDUZS
Candidate Answer: [ NOT ANSWERED ]

1! ! 1

QID : 38 - In a certain code language, '-' represents '+', '+' represents 'x', 'x' represents '+' and '+' represents '-'. Find out the answer to the following question.
3+12-40+5x20="7
=it ¥ Pl Wi & - | '+ ! [RERIT BRATE, '+, 'x' Pl [RERIT BRaAT 8, 'x', '+ DI R el & AR '+, - Pl Refid exar 8 | FrfoRad [Re &1 SR T & |

3+12-40+5x20="?

Options:
1) 42
2)1

3) 45

4) 30

Correct Answer: 1
Candidate Answer: 1

QID : 39 - The following equation is incorrect. Which two signs should be interchanged to correct the equation?
40+8x5+15-2=30
AT THIehRYT TR 8 | 59 FHIBRUT &1 el R o forg e &1 FRel o 311Uy  S1aeT-aaet! el A1feg?

40+8x5+15-2=30



Options:
1) + and -
3R -
2)+and +
+3R =
3)-and +
SR+
4) x and -
X 3R -

Correct Answer: x and -

x 3R -

Candidate Answer: x and -

X 3R -

QID : 40 - If 8a9 = -72, -9a3 = 27 and -6al = 6, then find the value of -3a6 = ?

e 8a9 = -72, -9a3 = 27 3R -6a1 = 6, AN -3a6 BT A ST B |
Options:

1) -98

2) -87

3)18

4) 29

Correct Answer: 18

Candidate Answer: 18

QID : 41 - Which of the following terms follows the trend of the given list?

AAAAAaA, AAAAaAA, AAAaAAA, AAaAAAA, AaAAAAA,
frforRa # I i 1 ug < TR g & A & IR &2

AAAAAaA, AAAAaAA, AAAaAAA, AAaAAAA, AaAAAAA,

Options:
1) aAAAAAA

2) AAAAAAa
3) AAAAAaA

4) AAAAaAA
Correct Answer: aAAAAAA



Candidate Answer: aAAAAAA

QID : 42 - Two motorcycle riders A and B start their rides from the same point. Rider A goes 11 km East then turns to his right and rides for another 9 km. Rider B goes 8 km North,
then turns East and rides for 11 km and then turns to his right and rides 7 km. Where is rider A with respect to rider B?

3 AexwTEfhe FaR A 3R B U & fig & oot Want g% vl € | WaR A O 1 oR 11 {6, 3 3t O o &, fOhR o1om qifeeTt @R Hg ST & @ik oY 9 fop Y. e Sl & | AR B ST
H 3R 8 5. 7. T ST 2, R g ot R g el & iR 3 11 6.1, Tep Hart ahwen 2 3iR bR o1om q1feeh iR g il & iR o 7 {6, 1Y, Teh Want avall 8 | WaR B & eiel § GaR A Faf
&

Options:

1) 10 km South

10 fop #t.gfaror

2) 8 km South

8 o A, gfaror

3) 10 km North

10 A IR

4) 8 km North

8 fr A I

Correct Answer: 10 km South
10 fo. 7 gfeor

Candidate Answer: 10 km South

10 fop.5 =féron

QID : 43 - In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to be at variance from
commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: All bolts are nails
Statement II: Some screws are bolts

Conclusion I: All nails are screws
Conclusion II: All screws are nails

RE § &1 e e T & ORI o) @ forepd 1 3R 11 Fiepel T € | 3110ep! AT 2 fob S i Teg & e 8 MTg: STl ool & T oRelie 8 & | 31ueh! Aot e & @t fw g e A
J PH-1/PH-Y e S A B gRI TG (BT ST ebell 2/9ehd &, T PIS |

P I: It Siee Flot B €
P I1: TV T diec 81 &

fArepd 1: it el Tpw BT &
forepd 11: Tt Tp Bl B &



Options:

1) Only conclusion I follows

et s 1 9t &

2) Only conclusion II follows

Fadt frspd 11 98 &

3) Both conclusions I and IT follow

QT e 1 o 11w &

4) Neither conclusion I nor conclusion II follows

A1 s 1 It & 71 &t e 11

Correct Answer: Neither conclusion I nor conclusion II follows

A1 a1 foreeps 1 &t & A1 & sy 11

Candidate Answer: Neither conclusion I nor conclusion II follows

A1 s 1 It & 11 €t o 11

QID : 44 -



In the following figure, rectangle represents Coppersmiths, circle
represents Bakers, triangle represents Gamers and square represents
Fathers. Which set of letters represents Coppersmiths who are neither
Gamers nor Bakers?

RFRRE WER A U AR @ SR F L
9ed o @ e F ¢, Fue And @ weRla avar
AR @ st #t FeRia & §1 3R 1 i & T 3
TR F TeiT e § S A 3R T & e

E
c D}/ G

VoL

Options:
1) BAF

2) CG
3) CDG

4HA
Correct Answer: A
Candidate Answer: A



QID : 45 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
SAY, TDD, UGI, VIN, ?
Teh 1< o 11 &, T 9 U g = & | U ¢ famedl & 3 98 w8 fAdhed gfig, St ST ! IR N |

SAY, TDD, UGI, VIJN, ?

Options:
1) WMR

2) WMS
3) WNR

4) WNS
Correct Answer: WMS
Candidate Answer: WMS

QID : 46 - In the following question, select the missing number from the given series.
46, 41, 35, 30, 2, 19, 13
fforRad e & Ry Y fadmed! # & < 3id ST Hifor |

46, 41, 35, 30, 2,19, 13

Options:
1) 26

2) 24
3) 28

4) 22
Correct Answer: 24
Candidate Answer: 24

QID : 47 - In the following question, four groups of three numbers are given. In each group the second and third number are related to the first number by a Logic/Rule/Relation.
Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

2l fag 10 R #, < Feell & IR g R T E | RA® g H SR AN SRRT e Ugedt et 9 fondt gen odh/Fem & Twiftd 8 | < St U /M & sTuR R § | Ry
femedl # 9 =1 @1 gfg |



Options:

1) (8, 17, 33)
2) (11, 23, 45)
3) (13, 27, 51)
4) (17, 35, 69)

Correct Answer: (13, 27, 51)
Candidate Answer: (13, 27, 51)

QID : 48 -

If a mirror is placed on the line MN, then
which of the answer figures is the right
image of the given figure?

i ua g9or &1 MN T@r 93 @1 Se ar &
IR e IFfT # F Fla-dr A v

PR T WA SRR g
M N




Options:
1)

2)

3)

4)




Correct Answer:

Candidate Answer:

QID : 49 -



Which of the following cube in the answer

figure cannot be made based on the unfolded
cube in the question figure?

fFfaf@d 3cat 3Mpiad # & HlT @1 g T
M 9o P A & ol O & Solrar 60

[o

O O
o | Y%
(o] (@]

X




Options:

D

3)

4)

o 0O




Correct Answer:
Candidate Answer:

QID : 50 -




A word is represented by only one set of numbers as given in any one of the alternatives. The sets
of numbers given in the alternatives are represented by two classes of alphabets as shown in the
given two matrices. The columns and rows of Matris-| are numbered from 0 to 4 and that of Matrix-l
are numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by
its column, for example 'B' can be represented by 21, 42 etc and '0' can be represented by 95, 89 etc.
Similarky, you have to identify the set for the word "YUCK'.

T %G e UF GEd-ap qan auft g o & Reed & @ Rl ow A
fean mr ) et # R v wEa-w e F o @ qaw adiv A g, o
fow a1 & ameggt # 1 3egg- & T IR o A e 0 # 4 3R egpl #
5% 98 3 gl ¥ U W H Ggel I o 3R @ A s e @
guffar o w@ar #1 Seewwr & fow B @ 21, 42 3R qEw g o @ o
0" & 95, 89 e gEw o 1 T | B A § Wee wmA 7 R e
YUCK' & forw &g &t Sgama ¢

Matrix | Matrix Il
=1 IR -
0 1 2 3 4 5 6 7 g 9
0 I LE: A I I 5 Z W z L U
1 h A K D Ml f Y o] 5 T N
2 C B D K A 7 u R L8] R W
3 A D H H F ] z Y Fi u o
4 it | F B ] F 9 0 U v Y X

Options:
1) 42,97,30,59

2) 40,97,40,55
3) 65,59,20,12

4) 13,69,24,99
Correct Answer: 65,59,20,12
Candidate Answer: 65,59,20,12



QID : 51 -
Find the unit place digit in (194)" + (294)

(194)% +(294)" & gfeic T 3F TWTI

Options:

1Ho

2)6

3)8

4)2

Correct Answer: 0

Candidate Answer: 0

QID : 52 - Find the average of all prime numbers between 20 and 50.

20 3R 50 F = Tt 3T ReaTt <t 3MNI BT Il o |
Options:

1) 35.857

2) 35.657

3) 34.857

4) 36.657

Correct Answer: 35.857

Candidate Answer: [ NOT ANSWERED ]

QID : 53 - Determine the value of “s” for which the equation 5x + 35 = 60x + s has infinite number of solutions.

""" o1 AT feiRe o RTaeh forg wfienor 5x + 35 = 60x + s & 3id FATE & |
Options:

1) 420

2) 440

3) 460

4) 480

Correct Answer: 420

Candidate Answer: 420



QID : 54 -

What is the sum of az—bl—cl—aaﬂc?‘ when the value of a=4, b=2 and
c=-67

at+b*+c'=3abc T 9T AT &, 9F a=4,b=2 I c=-6 87
Options:
1)0
2)2
3) 4
4)6
Correct Answer: 0

Candidate Answer: 0

QID : 55 - Which of the following conditions is TRUE for the two line segments AB and CD to be congruent?

G T AB iR CD & Faiw 8 & forg, -2 foreht wraff & bt <t ot et @2
Options:

1) AB=CD

2) AB>CD

3) AB<CD

4) None of these

=TT @ P T

Correct Answer: AB=CD

Candidate Answer: AB=CD

QID : 56 - If each median of an equilateral triangle has a length of 12cm. Then what will be the value of in-radius (in cm) of the equilateral triangle?

IS U TS RRYST & RS AT dit oleTg 12 I 8, O ISt RS & 31 ga @t foRsan &1 A ([t ) R 8
Options:

1)3

2)4

3)5

4)6

Correct Answer: 4

Candidate Answer: 4

QID : 57 - The population of a town increases by 5% in the first year, by 6% in the second year and by 8% in third year. The present population of town is 120204. What was the
population of the town 3 years ago?

T TMER B ST Ugel a8 H 5% , TR I H 6% 3 AT TR T H 8% H Iget § | &R &t ao Si=ien 120204 8 | 3 T G IER it ST o 2t



Options:
1) 102000

2) 100000
3) 98000

4) 101204
Correct Answer: 100000
Candidate Answer: 100000

QID : 58 - A sum of Rs 3170 is divided among X, Y and Z such that if Rs 13, Rs 12 and Rs 18 will be diminished from the shares of X, Y and Z respectively, then their shares will be
in the ratio 20 : 18 : 21. What is the initial share (in Rs) of Z?

3170 % @ IR BT X, Y TAT Z § 39 RBR [T fopam mam 8 foh afe X, Y don 7 & fB=ii 6 @ oo 1395, 12 3 A1 18 % & e QY S, o S77d R 20 : 18 : 21 & STIUI H 811 | Z T
R fE= (5 H) am &2

Options:

1) 1131

2) 1530

3) 910

4) 1350

Correct Answer: 1131
Candidate Answer: 1131

QID : 59 - In what ratio sugar of Rs 38 per kg and Rs 30 per kg be mixed with each other so that on selling mixture at Rs 35.2 per kg there will be a profit of 10%?

38 % WX 5. TR1. TN 30 T WRf<T 6. 7RT. areht =1t ! foht STguTal H AT 11, A1fds fAeRor @l 35.2 % WRK 3. TR1. &1 999 TR 10% 3T a4 &1 Sig?

Options:
1)1:3

2)3:7
3)13:7

4)9:4
Correct Answer: 1:3
Candidate Answer: 1 : 3



QID : 60 - Among four students sitting in a row, average age of last three students is 20 years and the average age of first three students is 21 years. If the age of first student is 26
years, then what is the age (in years) of the last student?

gt’rﬁaﬁaﬁwﬁw@ﬁfﬁﬁ,dﬁnéﬂﬁﬁw@ﬁaﬁsﬁwmzoﬁéamq?weﬁﬁﬁaﬁﬁaﬁaﬁwmzmﬁ| e qRem feneff ot oy 26 I &, a sifcw freneff @t ey (asf #) @
Opions:

1)23

2) 37

3) 24

4)29
Correct Answer: 23

Candidate Answer: 23

QID : 61 - A person borrows some money for 4 years at the rate of simple interest. If the ratio of principal and total interest is 5 : 1, then what is the rate ( in percentage) of interest?

Qe R ATERYT 15T 1 &R | 4 T6f & foly B e=RIRN SUR el & | Af TeAer TN Fol $aTel Bl SIS 5 : 1 8, T 1ol vt &% (Rt #) ram 272
Options:

1)5

2)25

3)10

4)20

Correct Answer: 5

Candidate Answer: 5

QID : 62 - Cost price of a calculator is Rs 495. If the profit percentage is 40%, then what is the value (in Rs) of profit?

Ueh hefdpeicR b1 ) 4o 495 % 8 | Ff o WRRIEIT 40% &, T &1 &1 714 (% H) 1 82
Options:
1) 226

2) 198
3) 186

4)218
Correct Answer: 198
Candidate Answer: 198



QID : 63 - Rajesh buys a table of Rs 900 and sells it. Rajesh gives two successive discount of 10% and 20% to the customer. What will be the selling price (in Rs) of the table?

RS 900 T Bt e Aot TRIGHT & AT S 391 AT & | XTONT RIS BT 10% TAT 20% Pt S BRIk Ge ol & | At BT gy g4 (3 F) o1 8nmm?

Options:
1) 568

2) 648
3) 728

4) 668
Correct Answer: 648
Candidate Answer: 648

QID : 64 -

What is the value of 3* +12%?

Y34 £12° &1 AT FT 2

Options:
1)13

2) 15
3)17

4)19
Correct Answer: 15
Candidate Answer: 15

QID : 65 - A work can be completed by 28 women in 36 days. If 4 women leave after working for 18 days, then how many days will be needed to complete the remaining work?

28 AR e el bt 36 ot # o1 ) ehch & | Af 4 AR 18 R & Uz T Brea deht S, o 99 §Y Bl Y 9R1 89 # fohe e o

Options:
1)24
2)21
3)27
4) 25



Correct Answer: 21
Candidate Answer: 21

QID : 66 - A car moves at a speed of 72 km/hr after repairing and moves at the speed of 54 km/hr before repairing. It covers X distance in 6 hours after repairing. How much time (in
hours) will it take to cover 3X distance before repairing?

U TR ARFI -1 o T 72 o . /elet 3 TIicr & Fefeht & oI ARRI R 3 Ugel 54 6. Ht/gier 5t IR Trekcht @ | FREIA IR & UET 98 X §X B 6 €T H 7 el & | AR R
Ugel 3X T v § o b e (iet §) ot

Options:

1) 20

2)24

3) 18

4)21

Correct Answer: 24

Candidate Answer: 24

QID: 67 -



The bar graph shows average marks scored in a 100
marks English exam by students of 7 divisions of Standard
X. Study the diagram and answer the following questions.

I 9K AE FM X & 7 o & fagmyar g@rr 100
3R dr 3T A ol # ureg Ry W T e gfar
1 38 NG & 30T + AN PEfaf@d et & 3eat &

Average English Marks / 33=iT 3/ &1 Jitaa

BO
65 70
| 50
a0 35 40 I
A B c D E F G

Division /&1

a5 BE8E8EL5838 8

Which division scored the second highest average marks?

oy et =1 R oo ST 3fes RIS fohd 87
Options:

1)F

2)B

3)G

4D

Correct Answer: G

Candidate Answer: G



QID : 68 -

The bar graph shows average marks scored in a 100
marks English exam by students of 7 divisions of Standard
X. Study the diagram and answer the following questions.

I gK G HeM X & 7 @ & faeidar g@rr 100
ol i 3R f oder & gog B R g e g
1 38 INE F 3T F 3R Fafef@a weat & 3w &)

Average English Marks / 33t 3t &1 sitaa

BO
| s 70
| S0
40 35 40
A B c o E F G

Division /39T

o5 B885838 8

What is the ratio of average marks scored by Division C to Division G?

T C IR T G GRT IR 5 TQ 37T 3feh o AU 9T &2
Options:

1)2:1

2)1:2

3)4:7

4)7:4

Correct Answer: 1 : 2

Candidate Answer: 1 : 2



QID: 69 -

The bar graph shows average marks scored in a 100
marks English exam by students of 7 divisions of Standard
X. Study the diagram and answer the following questions.

I gK G HeM X & 7 @ & faeidar g@rr 100
ol i 3R f oder & gog B R g e g
1 38 INE F 3T F 3R Fafef@a weat & 3w &)

Average English Marks / 33t 3t &1 sitaa

BO
| s 70
| S0
40 35 40
A B c o E F G

Division /39T

o5 B885838 8

Marks of division F were greater than that of Division B by

T F & gRT RIS {5 T 3ich 1 B & HbTaol fdres 9 |
Options:

1) 50%

2) 150%

3) 200%

4) 100%

Correct Answer: 100%

Candidate Answer: 100%



QID: 70 -

The bar graph shows average marks scored in a 100
marks English exam by students of 7 divisions of Standard
X. Study the diagram and answer the following questions.

I gK G HeM X & 7 @ & faeidar g@rr 100
ol i 3R f oder & gog B R g e g
1 38 INE F 3T F 3R Fafef@a weat & 3w &)

Average English Marks / 33t 3t &1 sitaa

BO
| s 70
| 50
a0 a5 40 I
o , I I I i , i ,
A B c D E F G

Division /39T

EBEBEZEaE &

If all students of Division B got bonus 5 marks each for winning an interschool match their new average marks would increase by how much?

IR} T B & ¥ BRI § R B U ST 5 Sita & fofg 5 3idh 199 o wY H et A S+ Y SiNaa @ik fahae ag SR
Options:

1) 12.50%

2) 5%

3) 25%

4) 10%

Correct Answer: 12.50%

Candidate Answer: 12.50%




QID : 71 - The length and breadth of a rectangle are 24 cm and 7 cm respectively. Calculate its perimeter (in cm).

Teh M Bt TS 3R FrerS Brer: 24 Fft. ok 7 JA. 2 | 39 aRem (JA. &) H orr s |
Options:

1) 124

2) 48

3) 62

4) 96

Correct Answer: 62

Candidate Answer: 62

QID : 72 - If the diameter of a circle is 35 cm, then what will be its circumference (in cm)?

IfS U g1 &1 A 35 WA B, A Sast uRfSy (F.A. #) o gnfte
Options:

1) 110

2) 220

3)21

4) 42

Correct Answer: 110

Candidate Answer: 110

QID : 73 - Find the volume (in cm?) of a sphere of diameter 7 cm.

7 J.1. AT & Ml BT 3 (8 A H) S s |
Options:
1) 140.25
2) 179.67
3) 337.16
4)213.74

Correct Answer: 179.67
Candidate Answer: 179.67

QID : 74 - APQR is right angled at Q. f m4R = 45°, then find the value of (cosecP - V3/2).

APQR ¥ Q RFHPIUT 2 | IR mZR = 45° &, @ (cosecP - V3/2) &1 T STl X |



Options:

1) (3V3-1)/3

2) 23

3) (2-V3)V3

4) (2V2-V3)2

Correct Answer: (2V2-V3)/2
Candidate Answer: (2v2-V3)/2

QID : 75 - AXYZ is right angled at Y. If cosecX = 17/15, then what is the value of cotZ ?

AXYZH Y R GHPIUT & | e cosecX = 17/15, Al cotZ &1 HIF 4T 2?2

Options:
1) 17/15
2) 8/17
3)17/8
4) 15/8

Correct Answer: 15/8
Candidate Answer: 15/8

QID : 76 - Which among the following is NOT a ‘geographical indicator?

frfeiRaa & | #1991 tp "ol gard” =81 82
Options:

1) Kani Shawi

CaRIRIIE

2) Naga Mircha

AT

3) Mysore Silk

AR v

4) Darjeeling Basmati

Correct Answer: Darjeeling Basmati
FIfelT arTR

Candidate Answer: [ NOT ANSWERED |

QID : 77 - The first Chairman of Disinvestment Commission was

faferarer ST & YR arexe J|



Options:

1) GV Ramkrishna

STt T

2) Madhu Dandavete

Ay g

3) C Rangarajan

. RS

4) Indira Gandhi

iRy gk

Correct Answer: GV Ramkrishna
STt &Y. P

Candidate Answer: [ NOT ANSWERED ]

QID : 78 - Which of the following was not mentioned in the Dhamma?

o & P I e A afole 2 e
Options:

1) Obedience to parents

AT T 3= ure

2) Charity

Q9o

3) Paternalism

HIG-HIT

4) Faith in Sangha

T & ORI =R

Correct Answer: Faith in Sangha

e & ORI a7=een

Candidate Answer: [ NOT ANSWERED ]

QID : 79 - Which of the following work is not credited to Lord Dalhousie?

fferRaa & 3 oy ol &1 IR TS SISt Bl FEN T ST 82

Options:

1) Merger of Punjab
UTTe <1 faer

2) Merger of Bengal
e o1 faer

3) Merger of Mysore
AR &1 fae

4) Merger of Satara
JeARI 1 fderd



Correct Answer: Merger of Mysore

AR 1 e

Candidate Answer: Merger of Bengal
A B fder

QID : 80 - Which of the following are the smaller planets than the size of the Earth?

T q P g2t & 3MBR Pt oI+l H BIE TRE &2
Options:

1) Uranus and Mars

30T 3R HITe

2) Neptune and Venus

THUT AR YEY

3) Venus and Mars

EX 3R AT

4) Neptune and Mars

BT SR A

Correct Answer: Venus and Mars
YR AR F1e
Candidate Answer: Venus and Mars

YR AR e

QID : 81 - Which of the following Indian states has the smallest coastline?

fRrforRae & 3 for WRelr Y91 &t SHERACH AT e Bt 87
Options:

1) Goa

Tt

2) Kerala

&R

3) Odisha

Jnfs=m

4) West Bengal

afR= e

Correct Answer: Goa

e

Candidate Answer: Goa

i



QID : 82 - Which place is NOT associated with Gautama Buddha?

PIH-IT T T g F Aeag & 82
Options:

1) Saranath

NRATY

2) Bodh Gaya

Elue

3) Kushinagar

4) Pawapuri
Tt

Correct Answer: Pawapuri

Tt

Candidate Answer: [ NOT ANSWERED ]

QID : 83 - Kishanganga Project is a major reason for contention between India and

fepere qRESTT YRa e & S a1 &1 T HRUTE |

Options:
1) Nepal

2) Bangladesh
EIEICN

3) Pakistan
T

4) China

4=

Correct Answer: Pakistan

qrfepa=

Candidate Answer: Nepal

BUIE]

QID : 84 - Which of the following man has been honoured with ‘Uttam Jeevan Raksha Padak’ the second-highest Gallantry award for civilians?

ferferRa # & fore cafat @1 AR AT ST dTel TR Hated SIRaT RRPR ‘ST STiae J&T 9aes” | 1T~ foha 91 82



Options:

1) Salim Gafur Shaikh

el THR o

2) Saurabh Sinha

BIRGANES

3) Nihalchand Sodhi

ATt @ig gt

4) Mahendra Giri

mex AR

Correct Answer: Salim Gafur Shaikh
el TER o

Candidate Answer: [ NOT ANSWERED |

QID : 85 - What is the name of official capital of Sri Lanka?

IRIcIchT Bt MBI IS BT T T 22

Options:
1) Colombo
Drciar

2) Sri Jayewardenepura

TR SR
3) Ceylon
KISIES

4) Kandy

Correct Answer: Sri Jayewardenepura
T ST
Candidate Answer: Sri Jayewardenepura

KRUSECERRR

QID : 86 - Which statements are CORRECT?

L. In early 1930’s Nylon was prepared from coal, water and air.
I1. Nylon was the first fully synthetic fibre.
II1. Nylon fibre was strong, elastic and light.

P A P & 2?7

1. 1930 & SR & YHIM H ATSAI BT (I PHIet, STt T a1, | o T |
1. FTZeAT [RYH QU1 U 3 HLIfS I o |
I11. STSAT 2T TRAA, TR TT Eh T |



Options:

1) Only I and II
hadt [ qer 11

2) Only I and III
hael 1 qe 111

3) Only II and III
hadl 11 o 111

4) All T, IT and III
I, I G0=I 111 9+t

Correct Answer: All I, IT and III
I, I oI 111 9+t

Candidate Answer: [ NOT ANSWERED |

QID : 87 - Which of the following statement is CORRECT?

frfeRad # & i a1 o Wl 52

Options:

1) Gold and Silver are not ductile.

[T e A T AL B |

2) Phophorus and Nitrogen are ductile.
HRBR T AR T 8 & |

3) Copper and Platinum are ductile.
fen qer wifem T B & |

4) Sulphur and Phophorus are sonorous.

FH AT BRBIRE ST &N & |

Correct Answer: Copper and Platinum are ductile.
e e wife =g 8 & |

Candidate Answer: [ NOT ANSWERED ]

QID : 88 - is not formally prescribed device available to members of parliament.

IS & Fi & forg sltuaRes wu 9§ FAyiRa Sua=or 7 2 |

Options:

1) Zero hour

LI

2) Call Attention Notice
T 3MTHYYT RIS

3) Half-an hour discussion
e €T it =t

4) Short-duration discussion

SUhIfeTeh =



Correct Answer: Zero hour

BT
Candidate Answer: Half-an hour discussion

Y e P ==

QID : 89 - Which type of city administration controls smaller urban areas?

TR (R BT DI A1 RBR BIC &< SR BT FRHR0T el &2
Options:

1) Nagar Panchayat

TR =

2) Municipal Council

TRUTfeTepT UREE

3) Municipal Corporation

TR fom

4) No option is correct.

I fched FE T R |

Correct Answer: Municipal Council

TRUTfeTepT UReg

Candidate Answer: Municipal Council

TRUTfeTeRT UREE

QID : 90 - Gaseous exchange takes place in leaves through tiny pores for the purpose of photosynthesis. What are these pores?

TRBTE STl % forg a1 o 3MeTH-IREH e Rl | B 8 | I fveR 2
Options:

1) Chloroplast

BRI (FARIART)

2) Stomata

R

3) Chlorophyll

qUIERT (FARIMhe)

4) Vacuole

INESEa

Correct Answer: Stomata
TR
Candidate Answer: Stomata

R



QID : 91 - Lymph carries digested and absorbed fat from .

RAAT < O g T S 9T 1 a8 AN & |
Options:

1) lungs

Bhel

2) intestine

I

3) stomach

HRY

4) kidney

dRp

Correct Answer: intestine

Candidate Answer: kidney

qdh

QID : 92 - How many ‘Pradhan Mantri LPG Panchayat’ would be organised across the country in next one and half year under the ‘Pradhan Mantri LPG Panchayat Yojna?’

TRETFHR! AUTSR Tamae AT & SiTRTd Tt S a8 A o3 # fham “URUTHIRT Tetdtot Tamaa’ al STt s Sem?
Options:

1) 2 lakh

2 g

2) 1 lakh

19

3) 3 lakh

3 g

4) 5 lakh

5 g

Correct Answer: 1 lakh
1 g

Candidate Answer: [ NOT ANSWERED |

QID : 93 - What is the name of the new upgraded version of indigenous transport aircraft SARAS?

291 7 & 99 aRae fAH IR & I~Id TEhRUT BT A R 2?2



Options:

1) SARAS PTIN
IRY Gidte

2) SARAS ML-3S
RN HUA-3 T
3) SARAS AL-5C
IRY Q-5 4t

4) SARAS FF-1F
RN ThU®-1 T
Correct Answer: SARAS PTIN
IRY Gidte

Candidate Answer: [ NOT ANSWERED |

QID : 94 - In December 2017, Mid-Term Review of the Foreign Trade Policy (FTP) was released. The review announced how much percent increase each in incentive rates of
Merchandise Exports from India Scheme and Services Export from India Scheme?

R 2017 #, fadw AR Y (Tl @t Ae-safs #t afen SRt @t TS | e H T Swen Pt TS B YRS THH Td HRT THH [ T Jarelt 5t Ao J Aefergst temes @t
RIcTeA &R # et qRferer gfy erfte

Options:

1) 5%

2) 10%

3) 2%

4) 15%

Correct Answer: 2%

Candidate Answer: [ NOT ANSWERED |

QID : 95 - On 10 April 2017, Lok Sabha passed the Human Immunodeficiency Virus (HIV) and AIDS (Prevention Control) Bill, 2017. Under the new provisions, which of the
following is not included?

10 3MqRA 2017 Y, ABHTHT A AT SRS RIGR IR (T TNl T (Aepm IR g, 2017 1 fsan | g qRae=i & sicia fFrafeiRad & & o+ a1 |ftaferd =18 82

Options:

1) Establishments keeping records of information of person living with HIV must adopt data protection measures.
QTSNS o 1T Y& dTel AR dot STHBRY I dTet GRITSTHI ! STeT FRET U bl YT ALY |

2) Person will be compelled to disclose his HIV status if even he/she does not give his/her Consent.

T Y 1T THRME ReIf o1 AT o=t & forg Aoty e S Ay g 3ot wemfy e qar @ |

3) Prohibits any individual from advocating feeling of hatred against HIV positive persons.

T3l uififed afermal | %R Bt I Pt gehTeld Br J bt afed R vy apran 2 |

4) All are included.

Tt afefera £ |

Correct Answer: Person will be compelled to disclose his HIV status if even he/she does not give his/her Consent.

T BT ST THRNET R BT AT HR b fo1g FoTaR foman S Iy a8 o=t wenfay 7t aar & |




Candidate Answer: All are included.

It AT € |

QID : 96 - A body of mass 5 kg accelerates from 12 m/s to 20 m/s in 4 seconds due to the application of a force on it. Calculate the magnitude of this force (in N).

5 5. 7RT XA aTelt et av R 4 Vb b ToT o= & I BT 31T 12 H/A. | 20 /3. S ST € | 399 9 bt o (N H) |
Options:

1) 40

2) 10

3)20

4) 80

Correct Answer: 10

Candidate Answer: [ NOT ANSWERED ]

QID : 97 - For a body moving with uniform acceleration its final velocity equals

I TR T ART G 9 IRafIT 81 878 o 0hI SARA T P SRR BN § |

Options:
1) average velocity - initial velocity
SINTT AT - R

2) 2 x average velocity - initial velocity

2 x 3R T - GRRIWD o

3) 2 x average velocity + initial velocity

2 x AT AT + GRRfD T

4) average velocity + initial velocity

SIS T + RRFD 47

Correct Answer: 2 x average velocity - initial velocity
2 x I 3T - GRS a7

Candidate Answer: [ NOT ANSWERED ]

QID : 98 - Features and habits that help animals to adapt to their surroundings are a result of the process of

q oft T[T T eTOT S iRt hY STk URAY | SR A FeRId B & at qRfcpRan b aReme |



Options:
1) maturation
BISCEER|

2) evolution

S

3) progression

qIeH

4) renewal

BCIRICaUl

Correct Answer: evolution

Candidate Answer: evolution

Sfedp™

QID : 99 - Which of the statements given below are correct?

A) Indian Grandmaster won the 2017 Chess World Cup.
B) In 2017, Roberto Firmino played for the Premier League team Leicester City.
C) In 2018 IPL auctions, Rajasthan Royals retained MS Dhoni.

ferforRad & I I 1 B I &7

A) T 2017 BT IR Jos HY MR TRISARER = ST |

B) a8 2017 ¥ Jfact fxfam iR ot & eftvex Ridt & forg et |
C) a9 2018 Tt MUY et # e aed = T G eI+t &bl Red o |
Options:

1) Only A

Pad A

2) Only B

P B

3) Only C

P C

4) None

IS T

Correct Answer: None

IS T

Candidate Answer: Only A

P A

QID : 100 - In Microsoft Word, there are basically two types of formatting - character formatting and

TEGRINTTE TS H, Gefd: &) [RPR P! HrafeT 2l & - Praex wiffe ek



Options:

1) Paragraph formatting

RFRIG HRfeT

2) Sentence formatting

3) Word formatting

TS BT

4) Font formatting

HiC BHfT

Correct Answer: Paragraph formatting
IRFRIG HIHfET

Candidate Answer: [ NOT ANSWERED ]



SSC CHSL 6 March 2018 Afternoon Shift

Quant

Instructions
For the following questions answer them individually

Question 1

A ship is full of cargo containers. It drops 2/3 of cargo containers at the first port and takes 60 more, at the
second port it drops two third of the new total and takes eleven more. On arriving at the third port it is found
that it have 48 cargo containers. Find the number of cargo containers in the ship at the starting?

A 189
B 159
C 161

D 153

Answer: D

Explanation:
Let number of cargo containers in the starting = 3x

It drops 2/3 of cargo containers at the first port and takes 60 more.

=> Number of cargo containers when the ship left first port = 3z — (% x 3z) + 60 = (z + 60)
Similarly, number of cargo containers after leaving second port = on arriving at third port,

=> 200 4 11 = 48

=> 280 — 48 — 11 =37

=>z+60=37x3 =111

=g =111 — 60 = 51

.". Number of cargo containers in the ship at the starting=3 x 51 = 153

=>Ans - (D)

Question 2

Out of a group of three numbers, second is thrice of the first and also twice of the third. If the sum of the
three numbers is 55 then find the largest number in the group.



C 30
p 32

Answer: C

Explanation:
Let second number = 6

=> First number = 2z and third number = 3z
=>Sum =6x + 2z + 3x = 55

= = % =5

.".Largest number=6 x 5 = 30

=>Ans - (C)

Question 3

Two whole numbers are such that the cube of first number exceeds the cube of second by 61 and the ratio
of the numbers is 5:4. What is the value of larger number?

D 6

Answer: C

Explanation:
Let the numbers be 5x and 4z

According to ques,
=> (52)% — (4z)® = 61
=>12523 — 64x% = 61z = 61

3 _ 61 __
_61_1

:>{L‘:\3/I:1

.. Largernumber=5 x 1 =15

=7

=>Ans - (C)
Question 4

Determine the value of 'x' when v/3% = 27



D 12

Answer: C

Explanation:
Expression : /3% = 27

=>(3)5 = (3)°

Comparing both exponents, we get :
=3

=>rx=3x3=9

=>Ans - (C)

=>

w8

Question 5

Chose the CORRECT option for the figure shoown below.

A AD=AF
B BD=BE
C CE=FC

D All options are correct.

Answer: D

Explanation:



B E Cc

If two tangents are drawn to a circle from one external point, then their tangent segments (lines joining the
external point and the points of tangency) are equal.

=>AD = AF,BD =BE,CE=CF
Thus, all options are correct.
=> Ans - (D)

Question 6

Calculate the length of the tangent (in cm) which is drawn from a point at a distance of 13 cm from the
centre and the largest chord of that circle is 10 cm.

A 10
B 12
C 15

D 16

Answer: B

Explanation:

A B
Given : Largest chord in a circle is the diameter, => radius OA = 12—0 = HcmandOB=13cm
Tofind:AB=7?
Solution : In right /A OAB,
=>(AB)?> = (OB)? — (OA)?
> (AB)? = (13)* — (5)?
=>(AB)? =169 — 25 = 144



=>AB = /144 = 12 cm
=> Ans - (B)
Question 7

If C =1200 and D = 1500, then D is how much percent more than C?

A 20
B 33.33
C 25

D 125

Answer: C

Explanation:
C =1200and D = 1500

(1500-1200) . 199

=> Required % = 1500

= % — 25%
=> Ans - (C)

Question 8

The ratio of three numbers is 5: 6: 8. If the sum of the three numbers is 380, then
what is the smallest among the three numbers?

A 75
B 80
C 120

D 100

Answer: D

Explanation:
Let three numbers be bz, 6 and 8x respectively.

Sum =5z + 6x + 8x = 380
= = % =20
.. Smallest number =5 x 20 = 100

=> Ans - (D)



Question 9

20 kg of a mixture of wheat and husk contains 5% husk. How many kg more of husk must be added to make
the husk content 20% in the new mixture?

A 275
B 3.75
C 475

D 575

Answer: B

Explanation:
% husk in 20 kg mixture = 5%

=> Quantity of husk = % x 20 = 1kg
Let x kg of husk is added

According to ques,

=>z+1= 24 x (x4 20)

=>5r + 5=+ 20

=5 —x=20-25

=>4x =15

=g =2 =375

.". 3.75 kg of husk must be added to make the husk content 20% in the new mixture.
=> Ans - (B)

Question 10

What is the average of first 11 multiples of 11?

A 22
B 44
C 55

D 66
Answer: D
Explanation:
First eleven multiples of 11 will form an arithmetic progression : 11,22,33,.......,121

First term, @ = 11 and common difference, d = 11



Sum of n terms = % (a + 1)

=> Sy = 2 (11 +121)

=11 x 66

Now, average of 11 terms = % = 66

=>Ans - (D)

Question 11

A sum of Rs 15200 is divided into two parts. The simple interest on first part at the rate of 25% per annum
is equal to the simple interest on second part at the rate of 13% per annum. What is the interest (in Rs) of
each part?

A 2500
B 1300
C 3250

D 1625

Answer: B

Explanation:
Let sum invested for 25% = Rs. 100z and sum invested for 13% = Rs. (15200 — 100z)

Time period = 1 year

PxRxT
100

=> Simple interest =

According to ques,

= 100zx25x1 __ (15200-100z)x13x1
100 100

=> 25z = (152 — z) x 13

=>2bx = 1976 — 13z

=>2bx + 13z = 38x = 1976

S [ ( RO

38
.". Interest for each part = %
=Rs. 1300
=>Ans - (B)
Question 12

Selling price of an article is Rs 27692 and loss percentage is 14%. If the selling price is Rs 37352, then what
will be the profit percentage?



A 1338
B 18.6
Cc 14

D 16

Answer: D

Explanation:
Selling price = Rs. 27,692

Loss % =14%

=> Cost price = (12070’29124) x 100 = Rs. 32,200

If selling price = Rs. 37,352

. _ (37,352—32,200)
.. Profit % = W 100

_ 5152 _

=> Ans - (D)
Question 13

Hiten marks his pen at Rs 9800 and after allowing discount of 20%, he still earns 12% profit. What is the
cost price (in Rs) of the pen?

A 7600
B 7200
C 6500
D 7000
Answer: D
Explanation:
Let the cost price = Rs. 100z
=> Selling price = 100z + % x 100z = Rs. 1122 - (i)
Also, Marked price = Rs. 9800 and discount % = 20%
=> Selling price = 9800 — % x 9800 = 9800 — 1960 = Rs. 7840 - (ii)

From equations (i) and (ii), we get :
=> 112z = 7840
= = % =170

.".Cost price =100 x 70 = Rs. 7000



=>Ans - (D)

Question 14

V361 + 1/3.61 + 1/0.0361 ?

A 209
B 22.11
C 2249

D 21.09

Answer: D

Explanation:
Expression : v/ 361 + v/3.61 + +/0.0361

We know that (19)? = 361
=19+ 1.9 +0.19 = 21.09
=> Ans - (D)

Question 15

Raja and Kundan together can build a wall in 20 days, Kundan and Mahesh build the same wall in 30 days
and Mahesh and Raja can build the same wall in 24 days. In how many days can all the three complete the
same wall while working together?

A 18
B 16
Cc 20

D 14

Answer: B

Explanation:
Let total work to be done = L.C.M.(20,30,24) = 120 units

Let efficiency of Raja, Kundan and Mahesh be x, y, 2 respectively.

Raja and Kundan together can build the wall in 20 days, =>x + y = 12—2(? = 6 units/day ——— (i)
Similarly, y + z = % = 4 units/day - (ii)
andz + = % = 5 units/day —— (iii)



Adding equations (i), (ii) and (ii), we get :
=>2(rz+y+2)=6+4+5=15
=>r4+y+z= % =175

.". Time taken by all of them = % = 16 days
=> Ans - (B)
Question 16

A man starts moving from a place A and reaches the place B in 26 hours. He covers 1/3rd of the distance at
the speed of 4 km/hr and covers the remaining distance at the speed of 5 km/hr. What is the distance (in
km) between A and B?

Answer: C
Explanation:
Let the distance between A and B be = 3d km
Distance covered at the speed of 4 km/hr = % X 3d = d km
Thus, remaining distance covered at the speed of 5 km/hr = (3d — d) = 2d km

Using, time = distance/speed

=>4 4 2 — 26
=>d =26 x 2]

=>d=2x20=40
.". Distance between A and B (inkm) =3 x 40 = 120
=>Ans - (C)

Instructions

The bar graph shows results of a survey. 1500 people exiting a multiplex were asked which movie they
watched? Study the diagram and answer the following questions.

Number of viewers
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Question 17

Which movie had least number of viewers?

cC A

D G

Answer: A

Explanation:
Clearly, movie C had the least number of viewers = 100

=>Ans - (A)
Question 18

What is the ratio of viewers of movie B to Viewers of movie A?

C 15:8

D 1:2

Answer: C

Explanation:

200



Number of viewers of movie B = 300

Number of viewers of movie A = 160

=> Required ratio = % =15:8
=>Ans - (C)
Question 19

Viewers of movie D were lesser than that of movie F by

A 47.7%
B 80%
C 26.67%

D 60%

Answer: C

Explanation:
Number of viewers of movie D = 220

Number of viewers of movie F = 300

=> Required % = ﬁ% x 100
=8 = 26.67%

=>Ans - (C)

Question 20

If 30% of viewers of movies G and F left before intermission, how many viewers were left watching these
two movies post intermission?

A 500
B 350
C 150

D 250
Answer: B
Explanation:
Number of viewers of movies G and F = 300 + 200 = 500

% of viewers that left = 30%



=> Number of viewers that were left watching these two movies post intermission = ﬁ%l x 500
=70 x 5 = 350
=> Ans - (B)

Instructions
For the following questions answer them individually

Question 21

The area and the length of one of the diagonals of a rhombus is 54 cm2 and 9 cm respectively. Find the
length of its other diagonal (in cm).

C 12

D 18

Answer: C

Explanation:
Let length of one diagonal = d cm and length of other diagonal =9 cm

=> Area of rhombus = % X dids
=> % X 9 x d = 54

_ _ 54x2
=>d = H4x2

=>d=12cm
=> Ans - (C)
Question 22

Calculate the area (in cm? ) of a circle of radius 10.5 cm.

A 693
B 157.5
Cc 315

D 346.5

Answer: D

Explanation:
Radius of circle=r = 10.5 cm

=> Area = 12



= 2—72 x 10.5 x 10.5
=22 x 1.5 x 10.5 = 346.5 cm?

=> Ans - (D)

Question 23

Find the total surface area (in cm? ) of a hemisphere of diameter 42 cm.

A 4158
B 5782
C 6321

D 7782

Answer: A

Explanation:
Radius of hemisphere, r = % = 21cm

Total surface area = 3772
=3 x £ x (21)?

=66 x 3 x 21 = 4158 cm?
=>Ans - (A)

Question 24

What is the value of (% + sin45°) ?

A V3+2
B (V2v3)
NG
(1++/6)
C =
D 4+2\/§
Answer: B
Explanation:

Expression : (% + sin45°)

_ 1 1
IR



- (V243
V6

=> Ans - (B)
Question 25

In AXYZ measure of angle Y is 90° . If sinX = 4/5, and XY = 6¢cm, then what is the length (in cm) of side YZ?

A 10

D 4

Answer: C

Explanation:

z

Y 6 cm X
Given : XY = 6 cm and sinX = 4/5 - (i)

Tofind:YZ="?

Solution : cos X = /1 — sin?2 X

=>cos X = 1—%—?2“2—95:% —————————— (ii)
Dividing equation (i) by (ii), => tan X = %

In right A XYZ,
=>tan(X) = ££
-4
=>YZ=35x6=8cm
=> Ans - (C)

Reasoning



Instructions
For the following questions answer them individually

Question 26

In the following question, select the related word pair from the given alternatives.
Seconds: Time:: 7: ?

A Angle: Pascal
B Length: Metre
C Area: Volume

D Ohm: Resistance

Answer: D

Explanation:
Expression = Seconds: Time:: ?: ?

The first is the unit to measure second, i.e. seconds is the S.I. unit of time, similarly Ohm is the unit of
Resistance.

=> Ans - (D)

Question 27

In the following question, select the related number from the given alternatives.
11:16::2:?

A 14:16
B 15:22
C 7:14

D 13:18

Answer: D

Explanation:
Expression =11:16::?:?

The difference between the first and second number is 5. Among the options,
(A):16-14=2

(B):22-15=7

(C):14-7=7



(D):18-13=5
=> Ans - (D)
Question 28

In the following question, select the related letter pair from the given alternatives.
AUR:CXV:?:?

A RFT:SGU
B GEM:IHQ
C HSO:GRN

D KGA:NIE

Answer: B

Explanation:
Expression = AUR:CXV 1 ?7:7?

The pattern followed is :

A, I R
(+2) (+3) (+4)
C H W

Similar pattern is observed only in :

5 E %
(+2) (+3) (+4)
I H )
=> Ans - (B)
Question 29

In the following question, select the odd word from the given alternatives.

A Rat
B Cat
C Fish

D Cow

Answer: C

Explanation:
Rat, cat and cow live on the land while fish swims in the sea, hence it is the odd one out.

=> Ans - (C)



Question 30

In the following question, four number pairs are given. The number on left side of (-) is related to the
number of the right side of (-) with some Logic/Rule/Relation. Three are similar on basis of same
Logic/Rule/Relation. Select the odd one out from the given alternatives.

A 31-33
B 33-35
C 37-39

D 35-39

Answer: D

Explanation:
The difference between each pair of numbers is 2.

But in the last option =>39 — 35 = 4
Thus, (35 - 39) is the odd one out.
=>Ans - (D)

Question 31

In the following question, select the odd letter/letters from the given alternatives.

Answer: D

Explanation:
The pattern followed is that in each pair, the first letter is followed by the letter at its position, when the
alphabets are reversed.

ABCDEFGHIJKLMNOPQRSTUWVWXYZ

i

CYXWVUTSRQPONMLKIIHGFEDCBA
|I->R,L->0
E>V,A>7Z

Thus, AY is the odd one out.



=>Ans - (D)
Question 32

Arrange the given words in the sequence in which they occur in the dictionary.
1. Opaque

2. Omission

3. Only

4. Onset

5. Omit

A 51243
B 25341
C 42513

D 21354

Answer: B

Explanation:
As per the order of dictionary,

= Omission -> Omit -> Only -> Onset -> Opaque
= 25341
=> Ans - (B)

Question 33

In the following question, select the missing number from the given series.
63, 56, 50, 43, 37, 30, ?

A 23
B 24
c 29

D 21

Answer: B

Explanation:
7' and '6' are alternatively subtracted.

63-7=256
56-6=50



50-7=43
43-6=37
37-7=30
30-6=24
=> Ans - (B)
Question 34

A series is given with one term missing. Select the correct alternative from the given ones that will
complete the series.
S,Q,N,J,?

D G

Answer: B

Explanation:
Series:S,Q,N, J,?

The pattern followed is :

S (-2 letters) = Q (-3 letters) = N (-4 letters) = J (-5 letters) = E
=> Ans - (B)

Question 35

Weight of C is twice the weight of M. Weight of M is 1/9 of the weight of R. Weight of R is 5/2 of the weight
of K. Weight of K is 1/3 of the weight of G. Who is the second lightest?

C K

D G

Answer: A

Explanation:

Let weight of G = 3x kg
=>K's weight = 3 X 3z = z kg

=>R's weight = 2 X = 2.5z kg

ot W=



=> M's weight = % X 2.5 = ‘i’—ﬁ kg
=>C's weight = 2 X ?—‘; = %‘” kg

.". Cis the second lightest.

=>Ans - (A)

Question 36

From the given alternatives, select the word which CANNOT be formed using the letters of the given word.
Transaction

A Ran
B Action
C Train

D Role

Answer: D

Explanation:
The word TRANSACTION does not contain any 'O, thus the term Role cannot be formed.

=> Ans - (D)
Question 37

In a certain code language, “MAKER" is written as “PDNHU". How is “TOOLS" written in that code language?

A VTRPM
B WRROV
C MLQGP

D PTNLR

Answer: B

Explanation:
“MAKER” is written as “PDNHU”

The pattern followed is :

(+37 | (+3) | (+3) | (+3) | (+3)
P ] [ H I




Similarly, for TOOLS :

(+3) | (+3) | (+3) | (+3) | (+3)
WA R R ] i
=> Ans - (B)

Question 38

In a certain code language, '-' represents 'x', '+' represents '+, '+' represents '+' and 'x' represents '-'. Find out
the answer to the following question.
5-6+30x8+16="?

D 36

Answer: C

Explanation:
Expression:5-6+30x8+16="7
=5x6+30—-8+416

=8 +8

=1+8=9

=>Ans - (C)

Question 39

The following equation is incorrect. Which two signs should be interchanged to correct the equation?
18+26-25x10+5=42

A -and+
B +andx
C xand-
D +and-

Answer: A

Explanation:



Expression: 18 +26-25x 10+ 5=42

(A):-and +

=18 -26+25x 10+ 5 =42

LH.S.=—8 + 20

=—8 + 50 =42 =RH.S.

=>Ans - (A)

Question 40

If 1A-5=5,4A7 = -28 and -1A-3 = -3, then find the value of 8A-8 = ?

D 74

Answer: A

Explanation:
Given: 1A-5=5,4A7 =-28 and -1A-3 =-3

If we replace ‘A" with 'x" and also multiply the final result with -1, then we will get the desired result.
Eg:-—1(1 x =5) =5

and —1(4 x 7) = —28and —1(—1 x —3) = —3

Similarly, —1(8 x —8) = 64

=> Ans - (A)

Question 41

Which of the following terms follows the trend of the given list?
YXYXYXZYX, YXYXYZXYX, YXYXZYXYX, YXYZXYXYX, YXZYXYXYX,

A ZYXYXYXYX
B YXYXYXZYX
C YZXYXYXYX

D YXYXYZXYX

Answer: C

Explanation:
Expression : YXYXYXZYX, YXYXYZXYX, YXYXZYXYX, YXYZXYXYX, YXZYXYXYX,




The pattern followed is that in each term there are 4 combinations of 'YX' and in each term, the position of 'Z'
is shifting one place to the left starting from third last position.

Thus, in the missing term, the second term will be 'Z' = YZXYXYXYX
=>Ans - (C)

Question 42

Two rugby players start running from the same place on the pitch. Player A runs 20 m South, then turns to
his left and runs 26 m. In the meanwhile Player B runs 12 m West, then he runs 6 m South, the he turns to
his left and runs 38 m. Where is Player A with respect to Player B?

A 26 m South
B 14 m South
C 14 m North

D 26 m North

Answer: B

Question 43

In the question two statements are given, followed by two conclusions, | and II.

You have to consider the statements to be true even if it seems to be at variance from
commonly known facts. You have to decide which of the given conclusions, if any, follows from
the given statements.

Statement I: Some notes are coins

Statement II: All notes are currency

Conclusion I: No coins are currency

Conclusion Il: Some currency are coins

A Only conclusion | follows
B Only conclusion Il follows
C Both conclusions | and Il follow

D Neither conclusion | nor conclusion Il follows

Answer: B



Question 44

In the following figure, rectangle represents Fashion designers, circle represents Lyricists, triangle
represents Comedians and square represents Americans. Which set of letters represents Fashion
designers who are lyricists?

A El
B FE
C GH

D FG

Answer: B

Question 45

A series is given with one term missing. Select the correct alternative from the given ones that will
complete the series.
CAL, AWF, YSZ, WOT, ?

A UJO
B VKP
C UKN

D VJP

Answer: C

Explanation:
Series : CAL, AWF, YSZ, WOT, ?

The pattern followed in each letter of the terms is :



1st letter : C (-2 letters) = A (-2 letters) = Y (-2 letters) = W (-2 letters) = U
2nd letter : A (-4 letters) = W (-4 letters) = S (-4 letters) = O (-4 letters) = K
3rd letter : L (-6 letters) = F (-6 letters) = Z (-6 letters) = T (-6 letters) = N
Thus, missing term = UKN

=> Ans - (C)

Question 46

In the following question, select the missing number from the given series.
470, 465, 460, 455, ?, 445

A 450
B 448
C 440

D 452

Answer: A

Explanation:
'5' is subtracted from all the numbers.

470-5 =465
465-5 =460
460 - 5 = 455
455-5=450
450-5 =445
=>Ans - (A)

Question 47

In the following question, four groups of three numbers are given. In each group the second and third
number are related to the first number by a Logic/Rule/Relation. Three are similar on basis of same
Logic/Rule/Relation. Select the odd one out from the given alternatives.

A (104,101, 96)
B (109,106, 101)

C (97, 94,89)

o

(121,118,111)

Answer: D

Explanation:



The numbers are of the form: (z,z — 3,z — 8)

But in the last option, we have = 121 — 8 = 113 # 111
Thus, (121,118, 111) is the odd one out.

=> Ans - (D)

Question 48

If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

N

Answer: D



Question 49

Which of the following cube in the answer figure cannot be made based on the unfolded cube in the
question figure?

O ¥ | X

Answer: C



Question 50

A word is represented by only one set of numbers as given in any one of the alternatives. The sets of
numbers given in the alternatives are represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix:| are numbered from 0 to 4 and that of Matrix:Il are numbered
from 5 to 9. A letter from these matrices can be represented first by its row and next by its column, for
example 'H' can be represented by 32, 41 etc and 'N' can be represented by 98, 85 etc. Similarly, you have to
identify the set for the word 'lOTA'.

Matrix - 1 Matrix - 1l
2 &

o= e

E RS S S ]
IT|m|m|F|=—|F
@ |—=|m|=—
—|=mm|e |w
— | Q| |m |~
w e [~ |an [
®[zZz|D|=|A|w
MM =D
=N E-N el B N
Z|00|=|7|w
S N IsRlsy sy -

A 42,56,11,85
B 22,68,22,57
C 43,67,5534

D 23,76,14,95

Answer: C

Explanation:
(A) : 42,56,11,85 = HPAN

(B) : 22,68,22,57 = JVJY
(C):43,67,55,34 = 10TA
(D) : 23,76,14,95 = EZAX
=>Ans - (C)

English

Instructions

In the following question, some part of the sentence may have errors. Find out which part of the sentence has
an error and select the appropriate option. If a sentence is free from error, select ‘No Error'.

Question 51

I seen (a)/ that it (b)/ is getting dark. (c)/ No error (d)

A |seen



p thatit
C s getting dark

D No error

Answer: A

Question 52

The long:term capital gains on listed securities (a)/ and the dividend tax on equity
mutual funds are the right steps (b)/ to generate resources required for drive demand in rural
India. (c)/ No error (d)

A The long:term capital gains on listed securities
B and the dividend tax on equity mutual funds are the right steps
C to generate resources required for drive demand in rural India

D No error

Answer: C

Instructions

In the following question, the sentence given with blank to be filled in with an
appropriate word. Select the correct alternative out of the four and indicate it by selecting the
appropriate option.

Question 53

Sita felt obligated to Geeta.

A cry
B decide
C give

D inform

Answer: D

Question 54

We ______ peace in our fast:escalating technological careers and lifestyle
without creating that beautiful notion of love:based emotions.



A seek
B bleak
C meek

D geek

Answer: A

Instructions

In the following question, out of the given four alternatives, select the one which best expresses the meaning
of the given word.

Question 55

Grudging

A Envious
B Favouring
C Generous

D Contented

Answer: A

Question 56
Allay

A Relieve
B Understand
C Increase

D Annoy

Answer: A

Instructions

In the following question, out of the given four alternatives, select the one which is opposite in meaning of the
given word.



Question 57

Grumpy

A Cross
B Badtempered
C Irritable

D Pleasant

Answer: D

Question 58

Celestial

A Heavenly
B Blessed
C Hellish

D Holy

Answer: C

Instructions
For the following questions answer them individually

Question 59

Rearrange the parts of the sentence in correct order.
The existence of

P: can be traced back to

Q: mammals on the earth

R: at least the Triassic time

A QRP
B PRQ
C PQR

D QPR

Answer: D



Question 60

A sentence has been given in Active/Passive Voice. Out of the four given
alternatives, select the one which best expresses the same sentence in Passive/Active Voice.
Why did your mother write such a book?

A Why was such a book written by your mother?
B Why is such a book written by your mother?
C Why your mother wrote such a book?

D Why was such a book wrote by your mother?

Answer: A

Question 61

A sentence has been given in Direct/Indirect Speech. Out of the four given
alternatives, select the one which best expresses the same sentence in Indirect/Direct Speech.
He said, “The dog died in the night.”

A Heinform about the dog’s death.
B He says dog died in the night.
C The dog had died in the night, he said.

D He said that the dog had died in the night.

Answer: D

Question 62

In the following question, a word has been written in four different ways out of
which only one is correctly spelt. Select the correctly spelt word.

A Culleague
B Coleague
C Colleague

D Colleegue

Answer: C



Instructions

In the following passage, some of the words have been left out. Read the passage carefully and select the
correct answer for the given blank out of the four alternatives.

Technical skill_____ to the ability and knowledge to use the pedagogy, tools and techniques involved
in the teaching and research of a specific subject. Ability in programming or software designing and
operating a computer is, instance, a technical skill. There are two things a teacher should
understand _____ transformational technical skills. In the first place, he mustknow ______ skill and
what level of skill should be applied on a particular student. He shouldbe ____ enough with their
potential to ask discerning questions. Secondly, a teacher must understand the role of each event organised
and the transformational skill applied, and the inter:relationships between the events and skills.

Question 63

Technical skill _________to the ability

A refers
B refer
C reference

D referred

Answer: A

Question 64

acomputeris,___________instance, a technical skill.

A of
B from
C at

D for

Answer: D

Question 65

understand __________ transformational technical skills.

A about

B at



c among

D upon

Answer: A

Question 66

he mustknow ________ skill and what level

A when
B which
C while

D who

Answer: B

Question 67

He should be enough with their

A familiar
B familiarly
C familiarness

D familiarity

Answer: A

Instructions

In the following question, out of the four alternatives, select the alternative which best expresses the meaning
of the idiom/phrase.

Question 68

Ask for trouble

A Actin away that is likely to incur problems or difficulties.
B Be the self appointed guardian of your neighbourhood.

C Aclumsy person who keeps making mistakes.



p A personwho has no work is bound to create trouble for others.

Answer: A

Question 69

Drive someone up the wall

A To help someone achieve success.
B To overcome an obstacle by going over it.
C Toclose someone's path of escape.

D Make someone very irritated or angry.

Answer: D

Instructions

In the following question, out of the four alternatives, select the alternative which is the best substitute of the
words/sentence.

Question 70

Become liquid, typically during decomposition
A Deliquesce
B Petrify

C Cohere

D Anneal

Answer: A

Question 71

Praise highly in speech or writing

A Chide
B Eulogise
C Chastise

D Reprimand



Answer: B

Instructions

In the following question, out of the four alternatives, select the alternative which
will improve the bracketed part of the sentence. In case no improvement is needed, select "no
improvement”.

Question 72

Humongous changes (has occurred) in the last two decades.

A have occurred
B have occur
C have occurring

D noimprovement

Answer: A

Question 73

The joy of (cook) a meal with freshly grown herbs was boundless.

A cooked
B cooking
C cooks

D noimprovement

Answer: B

Instructions
For the following questions answer them individually

Question 74

The question below consists of a set of labelled sentences. Out of the four options given, select the most
logical order of the sentences to form a coherent paragraph.

So he decided he

A: people, hopefully none
B: better place with fewer
C: would go far away, to a



A CBA
B CAB
C BCA

D BAC

Answer: A

Question 75

In the following question, four words are given out of which one word is correctly
spelt. Select the correctly spelt word.

A impovarish
B immpoverish
C impoverish

D immpovarish

Answer: C

General Awareness

Instructions
For the following questions answer them individually

Question 76

Market imperfections of a country are reflected in

A price rigidity
B factor immobility
C lack of specialization

D All options are correct.

Answer: D



Question 77

SEBIl is

A Constitutional body
B advisory body
C statutory body

D non:statutory body

Answer: C

Question 78

After which of the following centuries, did the practice of donating land in South
India go a long way?

A Fifth century
B Sixth century
C Eighth century

D Ninth century

Answer: C

Question 79

Which of the following languages has been used by Surdas in his writings?

A Awadhi
B Khariboli
C Braj

D Bundeli

Answer: C

Question 80

What is called the maximum distance from the Sun in a planet in its orbit?



A Perihelion
B Aphelion
C Apogee

D Perigee

Answer: B

Question 81

The line of Cancer does NOT pass through which of the following state of India?

A Odisha
B Gujarat
C Rajasthan

D West Bengal

Answer: A

Question 82

What was the real name of Gautam Buddha?

A Siddhartha
B Mahendra
C Shree Dutt

D Vishal Dutt

Answer: A

Question 83

Which country launched the world's largest amphibious aircraft on December 24,
20172

A USA

B China



c Japan

D Germany

Answer: B

Question 84

Which of the following prize is given for literary work?

A Arjuna Award
B Ashoka Chakra
C Vyas Samman

D Gita Chopra Award

Answer: C

Question 85

Officially what is the conventional long name of Sri Lanka?

A Democratic Socialist Republic of Sri Lanka
B Socialist Republic of Sri Lanka
C Republic of Sri Lanka

D No option is correct.

Answer: A

Question 86

Which of the following is man made fibre ?

A Cotton
B Wool
C Silk

D Nylon

Answer: D



Question 87

Which of the following statement is INCORRECT regarding Sodium?

A Sodium reacts vigorously with oxygen and water.
B A lot of heat is generated when sodium reacts with water and oxygen.
C Itis stored in kerosene.

D Itisanon:metal.

Answer: D

Question 88

is a constitutional body in India.

A Central Information Commission
B Lokpal and Lokayukta
C National Development Council

D Election Commission

Answer: D

Question 89

Which Constitutional Amendment Act added Part IX:A ‘The Municipalities’ to
Indian Constitution?

A 74th Constitutional Amendment Act
B 42nd Constitutional Amendment Act
C 39th Constitutional Amendment Act

D 10th Constitutional Amendment Act

Answer: A



Question 90
Photosynthesis fulfills which of the following requirements of the autotrophic organisms?
I. Carbon

Il. Water
Ill. Energy

A Onlyl
B Onlylll
C landlll

D Alll llandlll

Answer: C

Question 91

Which among the following difference between aerobic and anaerobic respiration
is INCORRECT?

Aerobic respiration takes place in presence of oxygen - Anaerobic respiration takes place in
the absence of oxygen

In Aerobic respiration pyruvate is broken down into ethanol and carbon dioxide - In
Anaerobic respiration pyruvate is broken down into carbon dioxide and water

In Aerobic respiration more energy is released - In Anaerobic respiration less energy is
released

D Aerobic respiration takes place in mitochondria- Anaerobic respiration takes place in yeast

Answer: B

Question 92

What is the total outlay (in Rs crore) pegged for “Pradhan Mantri Sahaj Bijli Har
Ghar Yojna” by the Indian Government?

A 15320
B 16320

C 17320



p 18320

Answer: B

Question 93

The Scientists from China have successfully cloned which animal for the first time?

A Human
B Dog
C Monkey

D Sheep

Answer: C

Question 94

What was the Gross Domestic Product (GDP) for India in 2016:17 Financial
Year?

A 6.10%
B 7.10%
C 8.10%

D 6.70%

Answer: B

Question 95

On 10 April 2017, Lok Sabha Passed the Motor Vehicles Act (Amendment) Bill,
2016. Under the new provisions, a fund named ‘MVAF’ will be constituted.
What does ‘A’ stand for in ‘MVAF'?

A Amendment
B Approval
C Accident

D Aspiration

Answer: C



Question 96

Find the acceleration (in%; ) of a body which accelerates from 25 m/s to 30 m/s in 10 seconds.

A 55
B 1
C Nn

D 05

Answer: D

Question 97

Tm/sequals____________km/hr.

A 5/16
B 16/5
C 18/5

D 5/18

Answer: C

Question 98

bears have white fur so that they are not easily visible in the snowy
background.

A Sloth
B Asian
C Brown

D Polar

Answer: D



Question 99

Which of the statements given below are correct?

A) In 2017, Gary Cahill captained the Premier League team Arsenal.

B) In 2018 IPL auctions, Kolkata Knight Riders retained Sunil Narine.

C) Roger Federer won the Tennis 2017 Wimbledon Championships Men's Singles.

A OnlyB
B BandC
C A BandC

D None of these

Answer: B

Question 100

In Microsoft Word, under character formatting decides the
appearance of our characters.

A Size
B Underline
C Effects

D Font

Answer: D
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Instructions
For the following questions answer them individually

Question 1

Find the square root of 1485961.

A 1213
B 1219
C 1229

D 1239

Answer: B

Explanation:
Factorization of 1485961 = 232 x 532

=> Square root = /1485961 = /232 x 532
=23 x b3 = 1219
=> Ans - (B)

Question 2

If a®> + b> = 80 and ab = 32, then calculate the value of Z—jrg

A 0.337
B 0.339
C 0.333

D 0.335

Answer: C

Explanation:
Given:a? + b? = 80 ——— () and ab = 32

=>2ab = 64 - (ii)
Adding equations (i) and (ii), we get :
=>q? 4 b> + 2ab = 80 + 64



=>(a +b)? =144
=>(a+b) = /144 = 12

Similarly, (a — b) = 4

. a=b
* a+b

=1 =10.333
=>Ans - (C)
Question 3

What is the value of (—7776) 3

Answer: B

Explanation:
Expression : (—7776)

= —(6°)3
=(—6)% = 36
=> Ans - (B)

SN

Question 4

What is the value of ° — x% + 8 when 8 — % —

Answer: D

Explanation:
Given: 8x — % —16=0

Cubing both sides, we get :

16 =07



= (z — 1) = (2)
= (@' — &) = 3@)(})(e— }) =8

Substituting value from equation (i),

= (2% — &) — 3(1)(2) = 8

=% — 513- =8+6=14
- 5 +8=22

=> Ans - (D)

Question 5

The triangle in which the orthocenter, circumcentre, Incenter and the centroid coincide each other at a point
is known as

A isosceles triangle
B equilateral triangle
C right angled triangle

D obtuse angled triangle

Answer: B

Explanation:
Only in an equilateral triangle, the orthocenter, circumcentre, Incenter and the centroid coincide each other at
a point.

=> Ans - (B)
Question 6

If the radius of a circle is decreased to 25% of its original value, calculate the percentage decrease in the
area of the circle.

A 25%
B 43.75%
C 50%

D 93.75%

Answer: B

Explanation:
Let the radius of the circle initially = 7 = 20 cm



=> Area = A — 7'("]”2 = 7T(2O)2 = 4007
2. % 20) = 15cm

=> New Area = A’ = 7(15)? = 2257

New radius = 7' = 20 — (

_ . (4007 —2257)
. Percent decrease in area = Zoon . % 100

=15 — 43.75%
=> Ans - (B)
Question 7

On decreasing the price of a fan by 40%, its sales increases by 50%. What will be the percentage increase or
decrease in its revenue?

A 15% increase
B 15% decrease
C 10% decrease

D 10%increase

Answer: C

Explanation:
Let 10 fans are sold for Rs. 10, i.e. price of 1 fan = Re 1
=>Revenue =10 x 10 = Rs. 100

Price is decreased by 40%, => New price = 10 — (55& x 10) = Rs. 6

Similarly, new sales = 10 + (2% x 10) = 15

=> New revenue =6 x 15 = Rs. 90

. 100—90
‘. % decrease in revenue = (1—00) x 100 = 10%

=> Ans - (C)

Question 8

A sum of Rs 2489 is divided among A, B and C such that if Rs 12, Rs 12 and Rs 5 be diminish from the
shares of A, B and C respectively, then their shares will be in the ratio of 5: 3: 4. What is the new share (in
Rs) of C?

A 750

B 1060



C 1475
p 820

Answer: D

Explanation:
Let the ratio of new sharesof A, BandC=5:3:4

Total amount deducted to get new share = 2489 — (12 + 12 + 5) = Rs. 2460
Let amount with A, B and C be Rs. 5x, 3x and 4x respectively.

=> 5z 4 3x + 4 = 12x = 2460

=g = 280 — 205

.".New share of C =4 x 205 = Rs. 820

=>Ans - (D)

Question 9

The milk and water in two vessels are in the ratio of 3: 1 and 7: 11 respectively. In what ratio should the
liquid in both the vessels be mixed to obtain a new mixture containing half milk and half water?

Answer: B

Explanation:
Milk in 1 litre mixture of vessel 1 =

Milk in 1 litre mixture of vessel 2 =

N NGV
o~

Milk in 1 litre of the new mixture =
Let ratio of liquid from both vesselsbe x : y
=> ($2) + (fy) = 3(z +v)

Multiply both sides by L.C.M. (4,18,2) = 36
=> 27z + 14y = 18x + 18y

=>27x — 18z = 18y — 14y

=9z = 4y

=>



.". Liquid of both the vessels should be mixed in the ratio 4 : 9 such that a new mixture containing half milk
and half water is obtained.

=> Ans - (B)
Question 10

Average of 14 numbers is 32. If the average of last 5 numbers is 26, then what is the average of the
remaining numbers?

A 3533
B 41.33
C 275

D 445

Answer: A

Explanation:
Average of 14 numbers = 32

=>Sum of 14 numbers = 32 x 14 = 448

Average of last 5 numbers = 26

=>Sum of last 5 numbers = 26 x 5 = 130

Thus, sum of remaining (14-5) 9 numbers = 448 — 130 = 318
.". Required average = %8 = 35.33

=>Ans - (A)

Question 11

A person borrows some money for 8 years at a rate of simple interest. If the ratio of principal and total
interest is 5: 8, then what is the rate ( in percentage) of interest?

A 10
B 20
C 25

D 30

Answer: B

Explanation:
Let Principal amount = Rs. 5 and interest = Rs. 8x



Let rate of interest = 7% and time period = 8 years

PxRxT

=> Simple interest = —55

_o bxxrx8 __
=> 0 = oT

>
=>pr = 1% = 20%
=> Ans - (B)
Question 12

Cost price of a watch is Rs 530. If the loss percentage is 24%, then what is the value (in Rs) of loss?

A 1272
B 153.2
C 1394

D 1142

Answer: A

Explanation:

Cost price = Rs. 530

Loss % = 24%

=>Loss amount = % X 530

=2 x 53 = Rs. 127.2
=>Ans - (A)
Question 13

Mahesh buys a watch of Rs 300 and sells it. Mahesh gives two successive discount of 15% and 6% to the
buyer. What will be the selling price (in Rs) of the watch?

A 2134
B 2423
C 2397

D 2474

Answer: C

Explanation:
Cost price of watch = Rs. 300

Price after st discount of 15% = 300 — (52 x 300) = Rs. 255



Selling Price after 2nd discount of 6% = 255 — (72= x 255) = Rs. 239.7

100

=>Ans - (C)
Question 14
What is the simplified value of /12 — %
A 5v3
B 5/v3
C 3v5
D 3/V5

Answer: B
Explanation:

L 1
Expression:4/12 — 7
_ 1
=2V/3 - V3

61 _ 5
V3 V3

=> Ans - (B)
Question 15

P can complete a work in 15 days and Q in 24 days. They began the work together, but Q left the work 2
days before its completion. In how many days, was the work completed?

A 12
B 10
c 9

D 11

Answer: B

Explanation:

Let the total work to be done = L.C.M.(15,24) = 120 units

P can complete the work in 15 days, => P's efficiency = %’0 = 8 units/day
Similarly, Q's efficiency = % = 5 units/day

Let the work is completed in t days, thus P worked for £ days while Q for (t — 2) days



=>8(t) + 5(t — 2) = 120
=>8t + 5t — 10 = 120

=>13t = 120 + 10 = 130

=>¢ =10 =10

.". The work is completed in 10 days.
=> Ans - (B)

Question 16

A bus moves at a speed of 84 km/hr after repairing and moves at a speed of 56 km/hr before repairing. It
covers 2x distance in 8 hours after repairing. How much time (in hours) will it take to cover x distance
before repairing

D 9

Answer: C

Explanation:
Speed of bus after repairing = 84 km/hr

Distance covered in 8 hours after repairing = 2z km
Using, speed = distance/time

=>84 = %”’

=>x = 84 x 4 = 336 km

Speed of bus before repairing = 56 km/hr

336

Now, time taken (in hours) to cover 336 km before repairing = <= = 6

=>Ans - (C)

Instructions

The pie chart shows the breakup of expenditure of a college for the year 2017. Study the diagram and answer
the following questions.

Expenditure in Rs.Lakhs



Question 17

The highest expenditure is for which item?

A Rent
B Marketing
C Assessments

D Placements

Answer: B

Explanation:
The highest expenditure is for Marketing = Rs. 450 lakhs

=> Ans - (B)
Question 18

What is the total expenditure (in Rs lakhs)?

A 1800
B 900
C 2000

D 1000

Answer: A

Explanation:
Total expenditure (in Rs lakhs)



=150 + 300+ 150 + 450 + 250 + 200 + 300
=1800

=>Ans - (A)

Question 19

The measure of the central angle of the sector representing Faculty is degrees.

A 30
B 45
C 75

D 60

Answer: D

Explanation:
Expenditure in Faculty (in Rs lakhs) = 300

Total expenditure (in Rs lakhs)
=150+ 300 + 150 + 450 + 250 + 200 + 300 = 1800

=> Required central angle = % x 360°
_ 360° _ @ano

=55 =60

=> Ans - (D)

Question 20

Expenditure on Assessments and Placements constitute what percent of total expenditure?

A 33.3%
B 25%
C 30%

D 27.77%

Answer: D

Explanation:
Expenditure on Assessments and Placements (in Rs lakhs) = 200 + 300 = 500

Total expenditure (in Rs lakhs)
=150 + 300 + 150 + 450 + 250 + 200 + 300 = 1800



=> Required % = % x 100
=20 = 27.77%
=> Ans - (D)

Instructions
For the following questions answer them individually

Question 21

The perimeter and the breadth of a rectangle are 60 cm and 14 cm respectively. Find its area (in cm?).

A 112
B 448
C 224

D 336

Answer: C

Explanation:
Let [ be the length of rectangle and breadth, b = 14 cm

=> Perimeter = 2(I + b) = 60
=>1+14=5 =30
=>[=30—-14=16cm

. Area=16 x 14 = 224 cm®
=>Ans - (C)

Question 22

If the perimeter of a semi-circle is 108 cm, then find its radius (in cm).

A 42
B 28
C 56

D 21

Answer: D

Explanation:
Let radius of semi circle =r cm

=> Perimeter of semi circle = mr + 2r = 108

=>r(% +2) =108



=>r(214) = 108
=>7r = 108 X 3_76
=>7~:3><7:210m

=>Ans - (D)

Question 23

Find the volume (in cm?) of a cube of side 7.5 cm.

A 421.875
B 77.145
C 39.245

D 24.435

Answer: A

Explanation:
Side of cube=a = 7.5 cm

=> Volume of cube = a®

= (7.5)° = 421.875 cm®
=>Ans - (A)

Question 24

What is the value of (cot30°+ 2/1/3) ?

o
ol

D 2//3

Answer: A

Explanation:
Expression : cot(30°) + %
= 2
=V3+ %

_ 342

V3



5

RVE]
=> Ans - (A)

Question 25

AXYZ is right angled at Y. If tanX = 24/7, then what is the value of cotZ ?

A 25/7
B 24/25
C 7/24

D 2477

Answer: D

Explanation:

z

Y X

Given:tan X = %

_ Yz _ 24
Also, tan X = = =

Let XY=7cmand YZ =24 cm

. _ Yz
To find: cot Z = X7

_ 2
7

=> Ans - (D)

Reasoning

Instructions
For the following questions answer them individually

Question 26

In the following question, select the related word pair from the given alternatives.
Start: End:: 2: ?



A Hot: Water
B Love: Care
C Green: Go

D Up:Down

Answer: D

Explanation:
Expression = Start: End:: ?: ?

The first and second words are opposite of each other, similarly only antonym pair given is Up : Down

=>Ans - (D)

Question 27

In the following question, select the related number pair from the given alternatives.
31:42::?7:?

A 53:64
B 47:59
C 61:73

D 44:34

Answer: A

Explanation:
Expression = 31:42:: 7.7

The difference between the first and second number is 11. Among the options,
(A):64-53=11

(B):59-47 =12

(C):73-61=8

(D):44-34=10

=>Ans - (A)

Question 28

In the following question, select the related letter/letters from the given alternatives.
FUT: JYX:: BUG: ?



A AYG
B FYK
C LCK

D FAM

Answer: B

Explanation:
Expression = FUT: JYX:: BUG: ?

The pattern followed is :

F I T
(+4) (+4) (+4)
J Y X

Similarly, BUG : FYK

B L 5
(+4) (+4) (+4)
F b K
=> Ans - (B)
Question 29

In the following question, select the odd word from the given alternatives.

A Ocean
B Sea
C Desert

D River

Answer: C

Explanation:
Ocean, sea and river are filled with water, while desert is filled with sand, hence it is the odd one out.

=> Ans - (C)



Question 30

In the following question, four number pairs are given. The number on left side of (-) is related to the
number of the right side of (-) with some Logic/Rule/Relation. Three are similar on basis of same
Logic/Rule/Relation. Select the odd one out from the given alternatives.

A 101-105
B 103-107
C 102-106

D 104-106

Answer: D

Explanation:
The difference between each of the pair of numbers is 4.

But in the last option => 106 — 104 = 2
Thus, (104 - 106) is the odd one out.

=> Ans - (D)

Question 31

In the following question, select the odd letter/letters from the given alternatives.

A KQW
B RXD
C BHN

D AGL

Answer: D

Explanation:
(A) : K (+6 letters) = Q (+6 letters) =W

(B) : R (+6 letters) = X (+6 letters) =D
(C) : B (+6 letters) = H (+6 letters) = N
(D) : A (+6 letters) = G (+5 letters) = L
=>Ans - (D)



Question 32

From the given alternatives, according to dictionary, which word will come at the LAST position?
1. Toast

2. Torpedo

3. Tongue

4. Trickle

5. Trick

A Trick
B Trickle
C Tongue

D Torpedo

Answer: B

Explanation:
As per the order of dictionary :

= Toast -> Tongue -> Torpedo -> Trick -> Trickle
Thus, the last word = Trickle

=> Ans - (B)

Question 33

In the following question, select the missing number from the given series.
13,17, 19, 23,29,?

A 33
B 31
C 35

D 37

Answer: B

Explanation:
Series: 13,17, 19, 23, 29, ?

Consecutive prime numbers are written.
Thus, the next prime number after 29 = 31

=> Ans - (B)



Question 34

A series is given with one term missing. Select the correct alternative from the given ones that will
complete the series.
Uy, SV, Qs, OP,?

A NM
B ML
C MM

D KL

Answer: C

Explanation:
Series : UY, SV, QS, OP, ?

The pattern followed in each letter of the terms is :

1st letter : U (-2 letters) = S (-2 letters) = Q (-2 letters) = O (-2 letters) = M
2nd letter : Y (-3 letters) = V (-3 letters) = S (-3 letters) = P (-3 letters) = M
Thus, missing term = MM

=> Ans - (C)

Question 35

L, M, N, O and P are sitting in a line facing east. L and M are sitting together. N is sitting at north end and O
is sitting at south end. P is the neighbour of M and N. Who is third from north end?

C M

D P

Answer: C

Explanation:
N is sitting at north end and O is sitting at south end.

M




P is the neighbour of M and N, => P sits just below N.

Also, M and L sits together, thus the arrangement is :

I

=

—

o

*. M is third from north end.

=>Ans - (C)

Question 36

From the given alternatives, select the word which CANNOT be formed using the letters of the given word.
Corporate

A Poor
B Rate
C Cat

D Prove

Answer: D

Explanation:
The word CORPORATE does not contain any 'V', thus the term Prove cannot be formed.

=>Ans - (D)
Question 37

In a certain code language, “PRICE" is written as “GEKTR". How is “VALUE" written in that code language?

A FWNCX
B FNWDY
C DWNCY

D GWNCX

Answer: D

Explanation:



“PRICE” is written as “GEKTR”

The pattern followed is that when we reverse the word, we have : ECIRP

E C I F F
(27| (+2) | (+2) | (+20 | (+2)
(= E K T R
Similarly, for VALUE :
E L L A b
(21| (+2) | (+2) | (+20 | (+2)
5 W M - X
=> Ans - (D)
Question 38

In a certain code language, '-' represents '+, '+ represents
the answer to the following question.

9-18+35x10+30="?

A 44
B 42
C 40

D 41

Answer: B

Explanation:
Expression:9-18+35x10+30="7

=9+4+18x35+10—-30

=9+ (9x7)—30

=63 — 21 =42
=> Ans - (B)

Question 39

X,

X' represents '+' and '+' represents '-'. Find out

The following equation is incorrect. Which two signs should be interchanged to correct the equation?
20+-14+5x20-2=56

A +andx

B +and-



c +and +

D -and+

Answer: B

Explanation:
Expression:20+14+5x20-2=56

(A) : +and x
=20+14x5+20—-2=56
LHS.=7.14 4+ 18 = 25.14 £RH.S.
(B):+and-
=20—-14+5x20+2=56
LH.S. =6+ 1% =56 =RH.S.

=> Ans - (B)

Question 40

If 16a1 = 8, 14a6 = 42 and 12a5 = 30, then find the value of 2a6 = ?

cC 4

D 10

Answer: A

Explanation:
Given:16al =8, 1406 =42 and 12a5 =30

If we replace 'a’ with 'x', and divide the product by 2, we get the desired result.
L 16x1
and % = 42 and 122—X5 =30
L 2x6 __
Similarly, =5~ = 6
=>Ans - (A)
Question 41

Which of the following terms follows the trend of the given list?
XYZXYZXYZ, XYZXYZXYZ, XYZXYZXYZ, XYZXYZXYZ, XYzXYZXYZ,

A XYZXYZXYZ



B XYZXYZXYZ
C XyzZXYZXYZ

D XYZXYzXYZ

Answer: C

Explanation:
Expression : XYZXYZXYZ, XYZXYzZXYZ, XYZXyZXYZ, XYZXYZXYZ, XYzZXYZXYZ,

The pattern followed is that in each term there are 3 combinations of 'XYZ' and in each term, one letter is
small and its position is changing in decreasing order.

Thus, in the missing term, the second letter will be small = XyZXYZXYZ
=>Ans - (C)

Question 42

An insect walks 15 cm East, then it turns to its right and walks for another 20 cm. then it turns right and
walks 4 cm, then it turns North and walks 20 cm, then finally it turns to its left and walks 2 cm. Where is the
insect now with respect to its starting point.

A 9 cm East
B 21 cm East
C 9cm West

D 21 cm West

Answer: A

Question 43

In the question two statements are given, followed by two conclusions, | and II.

You have to consider the statements to be true even if it seems to be at variance from
commonly known facts. You have to decide which of the given conclusions, if any, follows from
the given statements.

Statement I: Some games are sports

Statement II: No exercise are games

Conclusion I: All sports are exercise

Conclusion Il: Some exercise are sports

A Only conclusion | follows

B Only conclusion Il follows



c Both conclusions I and Il follow

D Neither conclusion | nor conclusion Il follows

Answer: D

Question 44

In the following figure, rectangle represents Journalists, circle represents Art critics, triangle represents
Campers and square represents Mothers. Which set of letters represents Mothers who are Campers?

G ,,//

A DC
B BDCH
C EDC

D HEB

Answer: A

Question 45

A series is given with one term missing. Select the correct alternative from the given ones that will
complete the series.
ENG, GQl, ITK, KWM, ?

A NAP
B MZO
C MAO

D NZP

Answer: B

Explanation:



Series : ENG, GQl, ITK, KWM, ?

The pattern followed in each letter of the terms is :

1st letter : E (+2 letters) = G (+2 letters) = | (+2 letters) = K (+2 letters) = M
2nd letter : N (+3 letters) = Q (+3 letters) = T (+3 letters) = W (+3 letters) = Z
3rd letter : G (+2 letters) = | (+2 letters) = K (+2 letters) = M (+2 letters) = 0
Thus, missing term = MZO

=> Ans - (B)

Question 46

In the following question, select the missing number from the given series.
58, 61, 65, 70, ?, 83

A 77
B 76
cC 78

D 75

Answer: B

Explanation:
Consecutive integers are added.

58 +3 =61
61+4 =65
65+5=70
70+6 =76
76 +7 =83
=> Ans - (B)
Question 47

In the following question, four groups of three numbers are given. In each group the second and third
number are related to the first number by a Logic/Rule/Relation. Three are similar on basis of same
Logic/Rule/Relation. Select the odd one out from the given alternatives.

A (7,14,21)
B (512 19)
c (3,10,17)

D (9 16,35)



Answer: D

Explanation:
The numbers are of the form : (z, z + 7, + 14)

But in the last option, we have =9 + 14 = 23 # 35
Thus, (9, 16, 35) is the odd one out.
=> Ans - (D)

Question 48

If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

V /Y

M N
N
A
B
N

Answer: B



Question 49

Which of the following cube in the answer figure cannot be made based on the unfolded cube in the
question figure?

2o W | O X

Answer: C



Question 50

A word is represented by only one set of numbers as given in any one of the alternatives. The sets of
numbers given in the alternatives are represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix | are numbered from 0 to 4 and that of Matrix Il are numbered
from 5 to 9. A letter from these matrices can be represented first by its row and next by its column, for
example 'F' can be represented by 41, 24 etc and 'V' can be represented by 57, 78 etc. Similarly, you have to
identify the set for the word 'MOCK'.

Matrix - 1 Matrix - 1
0 1 2 3 4 5 il 7 8 9
0 E Ml F ] iy ] W W W X x
1 B H L 1] | o Y M 8] 5 8]
2 K ] C Ml F 7 z M R W x
3 Ml H B D iy 8 W x ¥ W 5
4 B F ] G E 9 P ¥ 5 5 8]
A 20,86,11,65
B 13,67,22,20
C 12,89,12,69
D 20,59,20,76
Answer: B
Explanation:

(A) : 20,86,11,65 = KXHY
(B) : 13,67,22,20 = MOCK
(C):12,89,12,69 = LSLO
(D) : 20,59,20,76 = KXKN
=> Ans - (B)

English

Instructions

In the following question, some part of the sentence may have errors. Find out which part of the sentence has
an error and select the appropriate option. If a sentence is free from error, select ‘No Error'.

Question 51

The first and decisive step (a)/ in the expansion of Europe overseas (b)/ was the
conquest of Atlantic Ocean. (c)/ No error (d)



A The first and decisive step
B in the expansion of Europe overseas
C was the conquest of Atlantic Ocean

D No error

Answer: C

Question 52

The word ‘Macabre’ had been gained its significance from its (a)/ use in French
as la danse macabre for the allegorical (b)/ representation of the universal power of death. (c)/
No error (d)

A The word ‘Macabre’ had been gained its significance from its
B usein French as la danse macabre for the allegorical
C representation of the universal power of death

D No error

Answer: A

Instructions

In the following question, the sentence given with blank to be filled in with an
appropriate word. Select the correct alternative out of the four and indicate it by selecting the
appropriate option.

Question 53

She was chatting the cars.

A of
B about
C with

D on

Answer: B



Question 54

Success is achieved twice, once in the mind and the second time in the
world.

A real
B virtual
C fantasy

D artificial

Answer: A

Instructions

In the following question, out of the given four alternatives, select the one which best expresses the meaning
of the given word.

Question 55

Naive

A Sarcastic
B Artful
C Skeptical

D Ingenuous

Answer: D

Question 56

Surly

A Sweet

B Unfriendly

C Clear

D Pleasant

Answer: B

Instructions



In the following question, out of the given four alternatives, select the one which is opposite in meaning of the
given word.

Question 57

Myopic

A Blind

B Biased

C Careless

D Farsighted

Answer: D

Question 58

Defile

A Pollute
B Abuse
C Shame

D Honour

Answer: D

Instructions
For the following questions answer them individually

Question 59

Rearrange the parts of the sentence in correct order.
Attempts in India

P: honesty and more by blind faith

Q: by the government to validate traditional

R: medicine are driven less by

A QPR
B RPQ

C QRP



p RQP

Answer: C

Question 60

A sentence has been given in Active/Passive Voice. Out of the four given
alternatives, select the one which best expresses the same sentence in
Passive/Active Voice.

The officer cuts down the tree.

A The tree is cut down by the officer.
B The tree got cut down by the officer.
C Thetreeis cut by the officer.

D The tree cut by the officer.

Answer: A

Question 61

A sentence has been given in Direct/Indirect Speech. Out of the four given
alternatives, select the one which best expresses the same sentence in
Indirect/Direct Speech.

Raj said, “I am happy to be here this evening.”

A Raj said that he was happy to be there that evening.
B Raj was happy to be there this evening.
C Raj said he was happy to be there this evening.

D Rajsays heis happy to be there.

Answer: A

Question 62

In the following question, a word has been written in four different ways out of
which only one is correctly spelt. Select the correctly spelt word.

A Glamerous
B Glamrous

C  Glamorous



p Gleamorous

Answer: C

Instructions

In the following passage, some of the words have been left out. Read the passage carefully and select the
correct answer for the given blank out of the four alternatives.

The most powerful and the most perfect of thought and feeling through the medium of oral
language must be traced to the masteryof words. ____is better suited to lead speakers and readers

English into an easy control of this language than the command of the phrase that perfectly
expresses the thought. Every speaker's aimistobeheardand ____ Aclear,crisp____ holds
an audience as by the spell of some irresistible power.

Question 63

the mostperfect__________ of thought and feeling

A express
B expressive
C expressings

D expression

Answer: D

Question 64

masteryof words. _________is better suited to lead

A No
B Not
C None

D Nothing

Answer: D

Question 65

andreaders ___________ English into an easy

A for



C from

D at

Answer: B

Question 66

aimistobeheardand____ . Aclear

A understand
B understandable
C understood

D understandably

Answer: C

Question 67

crisp___________ holds an audience as

A articulate
B articulates
C articulations

D articulation

Answer: D

Instructions

In the following question, out of the four alternatives, select the alternative which best expresses the meaning
of the idiom/phrase.

Question 68

At the top of your lungs

A Be a habitual smoker.

B Be breathless after an exhausting physical task.



c Feel suffocated in a very crowded place.

D Extremely loudly.

Answer: D

Question 69

The wheels have come off

A To use something so much that it wears out.
B Things start to fail or go wrong, especially after a period of success.
C Todo ashoddy job which is destined to fail.

D Make an excuse to avoid doing a task.

Answer: B

Instructions

In the following question, out of the four alternatives, select the alternative which is the best substitute of the
words/sentence.

Question 70

An attractively tall, graceful, and dignified woman

A Terse
B Pithy
C Sententious

D Statuesque

Answer: D
Question 71

The return of someone to his own country

A Repatriation
B Migrate

C Emigrate



p !mmigrate

Answer: A

Instructions

In the following question, out of the four alternatives, select the alternative which
will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement”.

Question 72

The doctor removed the eye patch and asked him how he (were feeling).

A was felt
B has feeling
C was feeling

D noimprovement

Answer: C

Question 73

It is nothing less than magic which (will transformed) tiny teeny seeds into fruits of
life.

A transform
B transforms
C transforming

D noimprovement

Answer: B

Instructions
For the following questions answer them individually



Question 74

The question below consists of a set of labelled sentences. Out of the four options given, select the most
logical order of the sentences to form a coherent paragraph.

Many a bird found
A: secure in the branches

B: safety in the trees and
C: built their nests, feeling

A BAC
B BCA
C ACB

D ABC

Answer: B

Question 75

In the following question, four words are given out of which one word is correctly
spelt. Select the correctly spelt word.

A daclination
B declineation
C declination

D daclineation

Answer: C

General Awareness

Instructions
For the following questions answer them individually

Question 76

When the productive capacity of the economic system of state is inadequate to
create sufficient number of jobs, it is called

A seasonal unemployment



B Structural unemployment
C disguised unemployment

D cyclical unemployment

Answer: D

Question 77

Which of the following contributes the maximum earning in Indian Railways?

A Passenger Earning
B Goods Traffic Earning
C Sundry Earning

D Other Coach Earning

Answer: B

Question 78

Which of the following Vedas is referred to as the starting source of the word
Rudra?

A Rigveda
B Samaveda
C Yajurveda

D Atharvaveda

Answer: A

Question 79

The eminent Saint Vallabhacharya was associated with which of the following
branches?

A Gyanashrayi
B Krishnashrayi

C Premashrayi



p Ramashrayi

Answer: B

Question 80

Which of the following is NOT a terrestrial planet?

A Mercury
B Venus
C Mars

D Saturn

Answer: D

Question 81

The Line of Cancer passes through how many states of India?

D 8

Answer: D

Question 82

When was Guru Nanak Dev born?

A 1449 AD
B 1453 AD
C 1469 AD

D 1499 AD

Answer: C



Question 83

Which of the following country is NOT a member of the ‘Indian Ocean Rim
Association (IORA)?

A Seychelles
B SrilLanka
C India

D China

Answer: D

Question 84

Which of the following President was awarded the Nobel Peace Prize 2016?

A Raffel Korea
B Juan Manuel Santos
C Donald Trump

D Alexander Lukashenko

Answer: B

Question 85

Who is the the present Prime Minister of Pakistan?

A Mamnoon Hussain
B Shahid Khagan Abbasi
C Muhammad Nawaz Sharif

D Yousaf Raza Gillani

Answer: B



Question 86

In which part of the human body fat is completely digested?

A Small Intestine
B Lever
C Stomach

D Large Intestine

Answer: A

Question 87

Which of the following statement(s) is/are INCORRECT regarding Phosphorus?

A Phosphorus reacts vigorously with water.
B Itis a non:metal.
C It catches fire on reacting with air.

D Itisfoundin group 15 of the modern periodic table.

Answer: A

Question 88

Match the following

Body Type
I. Panchayti raj 1.Non-Constitutional
Il.LElection Commission 2.Local Government
l.Central Information Conmission 3.Constitutional

A [-1,11-2,111-3

B 1-2,11-1,1lI-3

C I-2,11-3,11I-1

D I-1,1-3,1I-2

Answer: C



Question 89

All the members of a municipality are by the people of municipal area.

A Elected directly
B Elected indirectly
C Nominated proportionally

D Nominated indirectly

Answer: A

Question 90

The maintenance functions of living organisms are performed by the

A chemical processes
B life processes
C physical processes

D No option is correct.

Answer: B

Question 91

Which of the following may cause the breakdown of pyruvate into lactic acid in our muscles?

A Lack of water
B Lack of Oxygen
C Lack of carbon dioxide

D Lack of nitrogen

Answer: B

Question 92

In September 2017, “Pradhan Mantri Sahaj Bijli Har Ghar Yojna” was launched
for giving electricity connections in rural and urban areas by ______



A March, 2019
B December, 2018
C March, 2018

D October, 2018

Answer: B

Question 93

By which process the Chinese Scientists have cloned two identical long: tailed
macaques?

A Polymerase chain reaction
B Parthenogenesis
C Somatic cell nuclear transfer

D Embryonic cell nuclear transfer

Answer: C

Question 94

In India, how much percent of GDP is the fiscal deficit target for the Financial
Year 2017:18?

A 4.20%
B 3.20%
C 2.20%

D 4.00%

Answer: B

Question 95

On 10 April 2017, Lok Sabha Passed the Motor Vehicles Act (Amendment) Bill,
2016. Under the new provisions, government will develop a scheme fo cashless treatment of
road accident victims during



A Silver hour
B Platinum hour
C Diamond hour

D Golden hour

Answer: D

Question 96

A bullet of mass 10gm is fired with a velocity of 40 m/s from a gun of mass 8 kg.
Find the recoil velocity (in m/s) of the gun.

cC 4

D 0.05

Answer: D

Question 97

During uniform motion of an object along a straight line, its remains
constant with time.

A acceleration
B deceleration
C force

D velocity

Answer: D

Question 98

The bodies of penguins are and their feet have webs,
making them good swimmers.

A heavy



g feathery
C streamlined

D oily

Answer: C

Question 99

Which of the statements given below are correct?

A) Dani Pedrosa won the 2017 Qatar Motorcycle Grand Prix MotoGP.
B) Bernhard Langer won the Golf 2017 BMW PGA Championship.

C) Dustin Johnson won the Formula One 2017 Abu Dhabi Grand Prix.

A OnlyB
B BandC
C A BandC

D None of these

Answer: D

Question 100

In Microsoft Word, under character formatting increases/decreases
the size of the characters.

A Size
B Font
C Effects

D Font style

Answer: A



